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Exam A

QUESTION 1
A recurring event is being stored in two databases that are housed in different geographical locations. A data analyst notices the event is being logged three hours earlier in one database than in the other database. Which of
the following is the MOST likely cause of the issue?

A. The data analyst is not querying the databases correctly.

B. The databases are recording different events.

C. The databases are recording the event in different time zones.

D. The second database is logging incorrectly.

Correct Answer: C
Section:
Explanation:
The most likely cause of the issue is that the databases are recording the event in different time zones. For example, if one database is in New York and the other database is in Los Angeles, there is a three-hour difference
between them. Therefore, an event that occurs at 12:00 PM in New York would be recorded as 9:00 AM in Los Angeles. To avoid this issue, the databases should either use a common time zone or convert the timestamps to a
standard format. Therefore, option C is correct.
Option A is incorrect because the data analyst is not querying the databases incorrectly, but rather observing a discrepancy in the timestamps.
Option B is incorrect because the databases are recording the same event, but with different timestamps.
Option D is incorrect because the second database is not logging incorrectly, but rather using a different time zone.

QUESTION 2
Which of the following is an example of a at flat file?

A. CSV file

B. PDF file

C. JSON file

D. JPEG file

Correct Answer: D
Section:

QUESTION 3
Refer to the exhibit.
Given the following graph:
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Which of the following summary statements upholds integrity in data reporting?

A. Sales are approximately equal for Product A and Product B across all strategies.

B. Strategy 4 provides the best sales in comparison to other strategies.

C. While Strategy 2 does not result in the highest sales of Product D, over all products it appears to be the most effective.

D. Product D should be promoted more than the other products in all strategies.

Correct Answer: B
Section:
Explanation:
Strategy 4 provides the best sales in comparison to other strategies. This is because the total sales for
Strategy 4 are the highest among all the strategies, as shown by the black line. The other statements are not accurate or do not uphold integrity in data reporting. Here is why:
Statement A is false because sales are not approximately equal for Product A and Product B across all strategies. For example, in Strategy 1, Product A has more sales than Product B, while in Strategy 3, Product B has more
sales than Product A.
Statement C is misleading because it does not account for the difference in scale between the products. While Strategy 2 has the highest total sales among all products, it does not necessarily mean that it is the most effective
for each product. For instance, Product D has very low sales in Strategy 2 compared to other strategies.
Statement D is biased because it does not provide any evidence or justification for why Product D should be promoted more than the other products in all strategies. It also ignores the fact that Product D has the lowest sales
among all products in most of the strategies.

QUESTION 4
You should always choose the analytics tool that is most appropriate for any given situation, even if that means acquiring a new tool.

A. True.

B. False.

Correct Answer: B
Section:
Explanation:
The statement is false. You should not always choose the analytics tool that is most appropriate for any given situation, even if that means acquiring a new tool. Acquiring a new tool can be costly, time-consuming, and risky,
as it may not be compatible with your existing data sources, systems, or processes. It may also require additional training, maintenance, and support. Therefore, you should always consider the trade-offs between the benefits
and drawbacks of acquiring a new tool versus using an existing one. You should also evaluate the feasibility, availability, and reliability of the new tool before making a decision. Reference: CompTIA Data+ (DA0-001) Practice
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QUESTION 5
What R package makes it easy to work with dates?

A. Lubridate.

B. Datemath.

C. Stringr.

D. ggplot.

Correct Answer: A
Section:
Explanation:
Lubridate is an R package that makes it easier to work with dates and times.

QUESTION 6
You have two databases tables that you would like to join together using a foreign key relationship.
What term best describes this action?

A. Blending.

B. Appending.

C. Mixing.

D. Merging.

Correct Answer: D
Section:
Explanation:
Data merging is the process of combining two or more data sets into a single data set. Most often, this process is necessary when you have raw data stored in multiple files, worksheets, or data tables, that you want to analyze
all in one go.

QUESTION 7
Which one of the following values will appear first if they are sorted in descending order?

A. Aaron.

B. Molly.

C. Xavier.

D. Adam.

Correct Answer: C
Section:
Explanation:
The value that will appear first if they are sorted in descending order is Xavier. Descending order means arranging values from the largest to the smallest, or from the last to the first in alphabetical order. In this case, Xavier is
the last name in alphabetical order, so it will appear first when sorted in descending order. The other names will appear in the following order: Molly, Adam, Aaron.
Reference: Sorting Data - W3Schools

QUESTION 8
Which one the following is not considered an aggregate function?
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A. SUM

B. MIN

C. SELECT

D. MAX

Correct Answer: C
Section:
Explanation:
The option that is not considered an aggregate function is SELECT. An aggregate function is a function that performs a calculation on a set of values and returns a single value. Examples of aggregate functions are SUM, MIN,
MAX, AVG, COUNT, etc. SELECT is not an aggregate function, but a SQL command that is used to select data from a table or a query. Reference: SQL Aggregate Functions -W3Schools

QUESTION 9
You are working with a dataset and want to change the names of categories that you used for different types of books.
What term best describes this action?

A. Recording.

B. Summarizing

C. Aggregating.

D. Filtering.

Correct Answer: A
Section:
Explanation:
The term that best describes the action of changing the names of categories that you used for different types of books is recoding. Recoding is a process of transforming or modifying the values of a variable or a category to
make them more meaningful, consistent, or accurate. For example, you can recode the names of book genres from "Fiction", "Non-Fiction", "Biography", etc. to "FIC", "NF", "BIO", etc. to make them shorter and easier to use.
Reference: Recoding Data - SPSS Tutorials -LibGuides at Kent State University

QUESTION 10
Joseph is interpreting a left skewed distribution of test scores. Joe scored at the mean, Alfonso scored at the median, and gaby scored and the end of the tail.
Who had the highest score?

A. Joseph

B. Joe

C. Alfonso

D. Gaby

Correct Answer: C
Section:
Explanation:
Alfonso had the highest score. A left skewed distribution is a distribution where the tail is longer on the left side than on the right side, meaning that most of the values are clustered on the right side and there are some
outliers on the left side. In a left skewed distribution, the mean is less than the median, which is less than the mode. Therefore, Joseph, who scored at the mean, had the lowest score, Gaby, who scored at the end of the tail,
had the second lowest score, and Alfonso, who scored at the median, had the highest score. Reference: Skewness - Statistics How To

QUESTION 11
An analyst is required to run a text analysis of data that is found in articles from a digital news outlet.
Which of the following would be the BEST technique for the analyst to apply to acquire the data?

A. Web scraping
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B. Sampling

C. Data wrangling

D. ETL

Correct Answer: A
Section:
Explanation:
This is because web scraping is a technique that allows the analyst to extract data from web pages, such as articles from a digital news outlet. Web scraping can be done using various tools and methods, such as Python
libraries, browser extensions, or online services. The other techniques are not suitable for acquiring data from web pages. Here is why:
Sampling is a technique that involves selecting a subset of data from a larger population, usually for statistical analysis or testing purposes. Sampling does not help the analyst to acquire data from web pages, but rather to
reduce the amount of data to be analyzed.
Data wrangling is a technique that involves transforming and cleaning data to make it suitable for analysis or visualization. Data wrangling does not help the analyst to acquire data from web pages, but rather to improve the
quality and usability of the data.
ETL stands for Extract, Transform, and Load, which is a process that involves moving data from one or more sources to a destination, such as a data warehouse or a database. ETL does not help the analyst to acquire data from
web pages, but rather to store and organize the data.

QUESTION 12
An analyst runs a report on a daily basis, and the number of datapoints must be validated before the data can be analyzed. The number of datapoints increases each day by approximately 20% of the total number from the
day before. On a given day, the number of datapoints was 8,798. Which of the following should be the total number of datapoints on the next day?

A. 7,038

B. 9,600

C. 10,600

D. 10,800

Correct Answer: C
Section:
Explanation:
This is because the number of datapoints increases each day by approximately 20% of the total number from the day before. Therefore, to find the number of datapoints on the next day, we can use the formula:

Plugging in the given values, we get:

Since we are dealing with whole numbers, we can round up the result to the nearest integer, which is 10,600.

QUESTION 13
An analyst has been tracking company intranet usage and has been asked to create a chat to show the most-used/most-clicked portions of a homepage that contains more than 30 links. Which of the following visualizations
would BEST illustrate this information?

A. Scatter plot

B. Heat map

C. Pie chart

D. Infographic
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Correct Answer: B
Section:
Explanation:
This is because a heat map is a visualization that uses colors to represent different values or intensities of a variable. A heat map can be used to show the most-used/most-clicked portions of a homepage that contains more
than 30 links by assigning different colors to each link based on how frequently they are clicked by the users. For example, a link that is clicked very often can be colored red, while a link that is clicked rarely can be colored
blue. A heat map can help the analyst to identify which links are more popular or important than others on the homepage. The other visualizations are not as effective as a heat map for this purpose. Here is why:
A scatter plot is a visualization that uses dots or points to represent the relationship between two variables. A scatter plot cannot show the most-used/most-clicked portions of a homepage that contain more than 30 links
because it does not have a clear way of mapping each link to a point on the graph.
A pie chart is a visualization that uses slices or sectors to represent the proportion of each category in a whole. A pie chart cannot show the most-used/most-clicked portions of a homepage that contains more than 30 links
because it does not have enough space to display all the categories clearly and accurately.
An infographic is a visualization that uses images, icons, charts, and text to convey information or tell a story. An infographic cannot show the most-used/most-clicked portions of a homepage that contain more than 30 links
because it does not have a consistent or standardized way of representing each link and its click frequency.

QUESTION 14
An analyst has generated a report that includes the number of months in the first two quarters of 2019 when sales exceeded $50,000:

Which of the following functions did the analyst use to generate the data in the Sales_indicator column?

A. Aggregate

B. Logical

C. Date

D. Sort

Correct Answer: B
Section:
Explanation:
This is because a logical function is a type of function that returns a value based on a condition or a set of conditions. A logical function can be used to generate the data in the Sales_indicator column by comparing the values
in the Sales column with a threshold of $50,000 and returning either "Exceeded $50,000" or "Not exceeded $50,000" accordingly. For example, a logical function in Excel that can achieve this is:

The other functions are not suitable for generating the data in the Sales_indicator column. Here is why:
Aggregate is a type of function that performs a calculation on a group of values, such as sum, average, count, etc. An aggregate function cannot generate the data in the Sales_indicator column because it does not compare the values in the Sales
column with a threshold or return a text value based on a condition.
Date is a type of function that manipulates or extracts information from dates, such as year, month, day, etc. A date function cannot generate the data in the Sales_indicator column because it does not use the values in the Sales column or
return a text value based on a condition.
Sort is a type of function that arranges the values in a column or a range in ascending or descending order. A sort function cannot generate the data in the Sales_indicator column because it does not create a new column or return a text value
based on a condition.

QUESTION 15
While reviewing survey data, an analyst notices respondents entered "Jan," "January," and "01" as responses for the month of January. Which of the following steps should be taken to ensure data consistency?
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A. Delete any of the responses that do not have "January" written out.

B. Replace any of the responses that have "01".

C. Filter on any of the responses that do not say "January" and update them to "January".

D. Sort any of the responses that say "Jan" and update them to "01".

Correct Answer: C
Section:
Explanation:
Filter on any of the responses that do not say "January" and update them to "January". This is because filtering and updating are data cleansing techniques that can be used to ensure data consistency, which means that the
data is uniform and follows a standard format. By filtering on any of the responses that do not say "January" and updating them to "January", the analyst can make sure that all the responses for the month of January are
written in the same way. The other steps are not appropriate for ensuring data consistency. Here is why:
Deleting any of the responses that do not have "January" written out would result in data loss, which means that some information would be missing from the data set. This could affect the accuracy and reliability of the
analysis.
Replacing any of the responses that have "01" would not solve the problem of data inconsistency, because there would still be two different ways of writing the month of January: "Jan" and "January".
This could cause confusion and errors in the analysis.
Sorting any of the responses that say "Jan" and updating them to "01" would also not solve the problem of data inconsistency, because there would still be two different ways of writing the month of January: "01" and
"January". This could also cause confusion and errors in the analysis.

QUESTION 16
Which of the following data cleansing issues will be fixed when a DISTINCT function is applied?

A. Missing data

B. Duplicate data

C. Redundant data

D. Invalid data

Correct Answer: B
Section:
Explanation:
This is because duplicate data refers to data that is repeated or copied in a data set, which can affect the quality and validity of the analysis. A DISTINCT function is a type of function that removes duplicate values from a
column or a table, leaving only unique values. For example, a DISTINCT function in SQL that can achieve this is:

The other data cleansing issues will not be fixed by applying a DISTINCT function. Here is why:
Missing data refers to data that is absent or incomplete in a data set, which can affect the accuracy and reliability of the analysis. A DISTINCT function does not help with missing data, because it does not fill in or impute the missing values.
Redundant data refers to data that is unnecessary or irrelevant for the analysis, which can affect the efficiency and performance of the analysis. A DISTINCT function does not help with redundant data, because it does not remove or filter out the
redundant values.
Invalid data refers to data that is incorrect or inaccurate in a data set, which can affect the validity and reliability of the analysis. A DISTINCT function does not help with invalid data, because it does not validate or correct the invalid values.

QUESTION 17
A county in Illinois is conducting a survey to determine the mean annual income per household. The county is 427sq mi (2.65q km). Which of the following sampling methods would MOST likely result in a representative
sample?

A. A stratified phone survey of 100 people that is conducted between 2:00 p.m. and 3:00 p.m.

B. A systematic survey that is sent to 100 single-family homes in the county

C. Surveys sent to ten randomly selected homes within 5mi (8km) of the county's office

D. Surveys sent to 100 randomly selected homes that are reflective of the population
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Correct Answer: D
Section:
Explanation:
Surveys sent to 100 randomly selected homes that are reflective of the population. This is because a random sample is a type of sample that is selected by using a random method, such as a lottery or a computer-generated
number, which ensures that every element in the population has an equal chance of being selected. A random sample can result in a representative sample, which means that the sample reflects the characteristics and
diversity of the population. By sending surveys to 100 randomly selected homes that are reflective of the population, the analyst can ensure that the sample is representative of the county's households and their income
levels. The other sampling methods are not likely to result in a representative sample. Here is why:
A stratified phone survey of 100 people that is conducted between 2:00 p.m. and 3:00 p.m. would result in a biased sample, which means that the sample favors or excludes certain groups or elements in the population. By
conducting the survey only between 2:00 p.m. and 3:00 p.m., the analyst would miss out on people who are not available or reachable at that time, such as those who are working or sleeping. This could affect the
representativeness and generalizability of the sample.
A systematic survey that is sent to 100 single-family homes in the county would result in an unrepresentative sample, which means that the sample does not reflect the characteristics and diversity of the population. By
sending surveys only to single-family homes, the analyst would ignore other types of households, such as apartments, condos, or mobile homes. This could affect the accuracy and reliability of the sample.
Surveys sent to ten randomly selected homes within 5mi (8km) of the county's office would result in a small sample, which means that the sample size is too low to capture the variability and diversity of the population. By
sending surveys only to ten homes within a limited area, the analyst would miss out on many households that are located in different parts of the county. This could affect the precision and confidence of the sample.

QUESTION 18
Which of the following statistical methods requires two or more categorical variables?

A. Simple linear regression

B. Chi-squared test

C. Z-test

D. Two-sample t-test

Correct Answer: B
Section:
Explanation:
This is because a chi-squared test is a type of statistical method that tests the association or independence between two or more categorical variables, such as gender, race, or occupation. A chisquared test can be used to
compare the observed frequencies of the categories with the expected frequencies under the null hypothesis of no association or independence. For example, a chi-squared test can be used to determine if there is a
relationship between smoking and lung cancer. The other statistical methods do not require two or more categorical variables. Here is why:
Simple linear regression is a type of statistical method that models the relationship between a continuous dependent variable and a continuous or categorical independent variable, such as height, weight, or education level.
A simple linear regression can be used to estimate the slope and intercept of the best-fitting line that describes how the dependent variable changes with the independent variable. For example, a simple linear regression can
be used to predict the weight of a person based on their height.
Z-test is a type of statistical method that tests the significance of the difference between a sample mean and a population mean, or between two sample means, when the population standard deviation or the sample sizes
are large enough. A z-test can be used to compare the average scores of two groups of students on a standardized test.
Two-sample t-test is a type of statistical method that tests the significance of the difference between two sample means when the population standard deviation is unknown or the sample sizes are small. A two-sample t-test
can be used to compare the average salaries of two groups of employees in different departments.

QUESTION 19
Which of the following data manipulation techniques is an example of a logical function?

A. WHERE

B. AGGREGATE

C. BOOLEAN

D. IF

Correct Answer: D
Section:
Explanation:
This is because an IF function is a type of logical function that returns a value based on a condition or a set of conditions. An IF function can be used to manipulate data by applying different actions or calculations depending
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on whether the condition is true or false. For example, an IF function in Excel that can achieve this is:
=IF (condition, value_if_true, value_if_false) The other data manipulation techniques are not examples of logical functions. Here is why:
WHERE is a type of clause that filters data based on a condition or a set of conditions. A WHERE clause can be used to manipulate data by selecting only the rows that satisfy the condition(s). For example, a WHERE clause in
SQL that can achieve this is:

AGGREGATE is a type of function that performs a calculation on a group of values, such as sum, average, count, etc. An AGGREGATE function can be used to manipulate data by summarizing or aggregating the values in a column or a table. For
example, an AGGREGATE function in SQL that can achieve this is:

BOOLEAN is a type of data type that represents two possible values: true or false. A BOOLEAN data type can be used to manipulate data by storing or returning logical values based on a condition or a set of conditions. For example, a BOOLEAN
data type in Python that can achieve this is:

QUESTION 20
A sales team wants visibility of current sales numbers, pipeline, and team performance. The team would also like to see calculations of individuals' earned commissions and projected commissions based on sales, but they
want that information to be kept confidential. Which of the following would be the BEST way to provide this visibility?

A. Create a dashboard displaying a data refresh date so users know the current sales numbers and configure permissions to control access.

B. Create a dashboard for sales numbers, pipeline, and team and individual performance for the management team.

C. Create a dashboard with filters for the overall team, individuals, and management. Users can filter to see the data they want.

D. Create a dashboard with views for team, individuals, and management. Configure permissions to control access.

Correct Answer: D
Section:
Explanation:
Create a dashboard with views for team, individuals, and management. Configure permissions to control access. This is because a dashboard is a type of visualization that displays multiple charts or graphs on a single page,
usually to provide an overview or summary of some data or information. A dashboard can be used to provide visibility of current sales numbers, pipeline, and team performance by showing different metrics and indicators
related to these aspects. By creating a dashboard with views for team, individuals, and management, the analyst can customize the content and layout of the dashboard for different audiences and purposes. By configuring
permissions to control access, the analyst can ensure that the confidential information, such as individuals' earned commissions and projected commissions based on sales, is only visible to the authorized users. The other
ways are not the best way to provide this visibility. Here is why:
Creating a dashboard displaying a data refresh date so users know the current sales numbers and configuring permissions to control access would not be sufficient to provide visibility of pipeline and team performance, as
well as individuals' earned commissions and projected commissions based on sales. The dashboard would only show the current sales numbers and the date when the data was updated, which would not give a
comprehensive or detailed view of the sales situation.
Creating a dashboard for sales numbers, pipeline, and team and individual performance for the management team would not be appropriate to provide visibility for the sales team, as they would not have access to the
dashboard or the information they need. The dashboard would only be available for the management team, which would limit the transparency and collaboration among the sales team members.
Creating a dashboard with filters for the overall team, individuals, and management would not be secure to provide visibility of confidential information, such as individuals' earned commissions and projected commissions
based on sales. The dashboard would allow users to filter and see the data they want, which could expose sensitive or personal information to unauthorized users.

QUESTION 21
An analyst has received the requirements for an internal user dashboard. The analyst confirms the data sources and then creates a wireframe. Which of the following is the NEXT step the analyst should take in the dashboard
creation process?

A. Optimize the dashboard.

B. Create subscriptions.

C. Get stakeholder approval.

D. Deploy to production.
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Correct Answer: C
Section:
Explanation:
Getting stakeholder approval is the next step the analyst should take in the dashboard creation process, after confirming the data sources and creating a wireframe. Stakeholder approval means getting feedback and validation
from the intended users or clients of the dashboard, to ensure that it meets their expectations and requirements. This step helps to avoid rework and ensure customer satisfaction. Reference: CompTIA Data+ Certification
Exam Objectives, page 14

QUESTION 22
A data analyst has been asked to derive a new variable labeled "Promotion_flag" based on the total quantity sold by each salesperson. Given the table below:

Which of the following functions would the analyst consider appropriate to flag "Yes" for every salesperson who has a number above 1,000,000 in the Quantity_sold column?

A. Date

B. Mathematical

C. Logical

D. Aggregate

Correct Answer: C
Section:
Explanation:
A logical function is a type of function that returns a value based on a condition or a set of conditions. For example, the IF function in Excel can be used to check if a certain condition is met, and then return one value if true,
and another value if false. In this case, the data analyst can use a logical function to check if the Quantity_sold column is greater than 1,000,000, and then return "Yes" if true, and "No" if false. This would create a new
variable called Promotion_flag that indicates whether the salesperson has sold more than 1,000,000 units or not. Reference: CompTIA Data+ Certification Exam Objectives, Logical functions (reference)

QUESTION 23
Refer to the exhibit.
Given the diagram below:
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Which of the following data schemas shown?

A. Key-value pairs

B. Online transactional processing

C. Data Lake

D. Relational database

Correct Answer: D
Section:
Explanation:
A relational database is a type of database that organizes data into tables, where each table has a fixed number of columns and a variable number of rows. Each row in a table represents a record or an entity, and each column
represents an attribute or a property of that entity. The tables are linked by common fields, called keys, which enable the database to establish relationships between the data. A relational database schema is a diagram that
shows the structure and organization of the tables, columns, keys, and constraints in a relational database. The diagram given in the question is an example of a relational database schema, as it shows two tables: "Runs" and
"Experiments", with their respective columns, data types, and primary keys. The "Runs" table also has a foreign key that references the "ExperimentId" column in the "Experiments" table, indicating a relationship between the
two tables. Therefore, the correct answer is D. Reference: What is a database schema? | IBM, Database Schema - Javatpoint

QUESTION 24
A company's marketing department wants to do a promotional campaign next month. A data analyst on the team has been asked to perform customer segmentation, looking at how recently a customer bought the product,
at what frequency, and at what value. Which of the following types of analysis would this practice be considered?

A. Prescriptive

B. Trend

C. Gap

D. Custer

Correct Answer: D
Section:
Explanation:
Customer segmentation is a type of cluster analysis, which is a method of grouping data points based on their similarities or differences. Cluster analysis can help identify patterns and trends in the data, as well as target
specific groups of customers for marketing purposes. One common technique for customer segmentation is RFM analysis, which stands for recency, frequency, and monetary value.
This technique assigns a score to each customer based on how recently they bought the product, how often they buy the product, and how much they spend on the product. These scores can then be used to create clusters
of customers with different characteristics and preferences. Therefore, the correct answer is D. Reference: Cluster Analysis - Statistics Solutions, RFM Analysis: The Ultimate Guide for Customer Segmentation

QUESTION 25
A publishing group has requested a dashboard to track submissions before publication. A key requirement is that all changes are tracked, as multiple users will be checking out documents and editing them before submissions
are considered final. Which of the following is the BEST way to meet this stakeholder requirement?

A. Display the version number next to each submission on the dashboard.
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B. Present a data refresh date at the top of the dashboard.

C. Confirm the dashboard is adhering to the corporate style guide.

D. Use permissions to ensure users only see certain versions of the submissions.

Correct Answer: A
Section:
Explanation:
A static report is a type of report that shows a snapshot of data at a specific point in time. A static report does not change or update automatically, unless the data source is refreshed or the report is regenerated. A static
report is suitable for situations where the data does not change frequently or where historical data is needed for comparison or analysis. In this case, the data analyst is asked to create a sales report for the second-quarter
2020 board meeting, which will include a review of the business's performance through the second quarter. The board meeting will be held on July 15, 2020, after the numbers are finalized. This means that the data analyst
does not need to show real-time or dynamic data, but rather a fixed and accurate view of the sales data for the second quarter.
Therefore, a static report would be the best way to meet this stakeholder requirement. Therefore, the correct answer is A. Reference: What are Static Reports? | Sisense, Static vs Dynamic Reports -What's The Difference? |
datapine

QUESTION 26
The number of phone calls that the call center receives in a day is an example of:

A. continuous data.

B. categorical data.

C. ordinal data.

D. discrete data.

Correct Answer: D
Section:
Explanation:
Discrete data is a type of data that can only take certain values, usually whole numbers or integers.
Discrete data can be counted, but not measured. For example, the number of students in a class, the number of books in a library, or the number of phone calls that a call center receives in a day are all examples of discrete
data. Discrete data is different from continuous data, which can take any value within a range, and can be measured with precision. For example, the height of a person, the weight of a fruit, or the temperature of a room are
all examples of continuous data. Therefore, the correct answer is D. Reference: [Discrete vs Continuous Data: Definition and Examples - Statistics How To], [Discrete Data - Definition and Examples | Math Goodies]

QUESTION 27
A data analyst is asked to create a sales report for the second-quarter 2020 board meeting, which will include a review of the business's performance through the second quarter. The board meeting will be held on July 15,
2020, after the numbers are finalized. Which of the following report types should the data analyst create?

A. Static

B. Real-time

C. Self-service

D. Dynamic

Correct Answer: A
Section:
Explanation:
A dynamic report is a type of report that shows data that changes or updates automatically based on certain criteria or parameters. A dynamic report can allow users to interact with the data, filter it, drill down into it, or
visualize it in different ways. A dynamic report is suitable for situations where the data changes frequently or where real-time or near-real-time data is needed for decision making or analysis. In this case, the data analyst is
asked to create a sales report for the second-quarter 2020 board meeting, which will include a review of the business's performance through the second quarter. The board meeting will be held on July 15, 2020, after the
numbers are finalized. This means that the data analyst does not need to show real-time or dynamic data, but rather a fixed and accurate view of the sales data for the second quarter. Therefore, a static report would be the
best way to meet this stakeholder requirement. Therefore, the correct answer is A. Reference: [What are Dynamic Reports? | Sisense], Static vs Dynamic Reports - What's The Difference? | datapine
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QUESTION 28
Which of the following would be considered non-personally identifiable information?

A. Cell phone device name

B. Customer's name

C. Government ID number

D. Telephone number

Correct Answer: A
Section:
Explanation:
Non-personally identifiable information (non-PII) is any data that cannot be used to identify, contact, or locate a specific individual, either alone or combined with other sources. Non-PII can include aggregated statistics,
anonymous data, device identifiers, IP addresses, cookies, and other types of information that do not reveal the identity or location of a person. Cell phone device name is an example of non-PII, as it does not reveal any
personal information about the owner or user of the device. Therefore, the correct answer is A. Reference: What is Non-Personally Identifiable Information (Non-PII)? | Definition and Examples, What is Personally Identifiable
Information (PII)? | Definition and Examples

QUESTION 29
Which of the following is the correct data type for text?

A. Boolean

B. String

C. Integer

D. Float

Correct Answer: B
Section:
Explanation:
A string is a data type that represents a sequence of characters, such as text, symbols, numbers, or punctuation marks. Strings are enclosed in quotation marks, such as "Hello", "123", or "!@#". Strings can be manipulated,
concatenated, sliced, indexed, formatted, and searched using various methods and functions. A string is different from other data types, such as boolean, integer, or float, which represent logical values (true or false), whole
numbers, or decimal numbers respectively. Therefore, the correct answer is B. Reference: What is a String? | Definition and Examples, Python String Methods

QUESTION 30
Which of the following should be accomplished NEXT after understanding a business requirement for a data analysis report?

A. Rephrase the business requirement.

B. Determine the data necessary for the analysis.

C. Build a mock dashboard/presentation layout.

D. Perform exploratory data analysis.

Correct Answer: B
Section:
Explanation:
Exploratory data analysis (EDA) is a process of examining and summarizing a dataset using various techniques, such as descriptive statistics, visualizations, correlations, outliers detection, and hypothesis testing. EDA can help
reveal the main characteristics, patterns, trends, and insights from the data, as well as identify any problems or issues with the data quality or structure. EDA is usually performed after understanding a business requirement
for a data analysis report and before building a mock dashboard/presentation layout. Therefore, the correct answer is B. Reference: [What is Exploratory Data Analysis? | Definition and Examples], [Exploratory Data Analysis in
Python]

QUESTION 31
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Which of the following is a common data analytics tool that is also used as an interpreted, high-level, general-purpose programming language?

A. SAS

B. Microsoft Power BI

C. IBM SPSS

D. Python

Correct Answer: D
Section:
Explanation:
Python is a common data analytics tool that is also used as an interpreted, high-level, generalpurpose programming language. Python has a simple and expressive syntax that makes it easy to read and write code. Python also
has a rich set of libraries and frameworks that support various tasks and applications in data analytics, such as data manipulation, visualization, machine learning, natural language processing, web scraping, and more. Some
examples of popular Python libraries for data analytics are pandas, numpy, matplotlib, seaborn, scikit-learn, nltk, and beautifulsoup. Python is different from other data analytics tools that are not programming languages but
rather software applications or platforms that provide graphical user interfaces (GUIs) for data analysis and visualization. Some examples of these tools are SAS, Microsoft Power BI, IBM SPSS. Therefore, the correct answer is
D. Reference: [What is Python? | Definition and Examples], [Python Libraries for Data Science]

QUESTION 32
A data analyst needs to present the results of an online marketing campaign to the marketing manager. The manager wants to see the most important KPIs and measure the return on marketing investment. Which of the
following should the data analyst use to BEST communicate this information to the manager?

A. A real-time monitor that allows the manager to view performance the day the campaign was launched

B. A sell-service dashboard that allows the manager to look at the company's annual budget performance

C. A spreadsheet of the raw data from all marketing campaigns and channels

D. A summary with statistics, conclusions, and recommendations from the data analyst

Correct Answer: D
Section:
Explanation:
A summary with statistics, conclusions, and recommendations from the data analyst is the best way to communicate the results of an online marketing campaign to the marketing manager. A summary can provide a concise
and clear overview of the most important KPIs and measure the return on marketing investment, as well as highlight the main findings and insights from the data analysis. A summary can also include actionable suggestions
and best practices for improving the campaign performance and achieving the marketing objectives. A summary is different from other options, such as a real-time monitor, a self-service dashboard, or a spreadsheet of raw
data, which may not provide enough context, interpretation, or guidance for the manager. Therefore, the correct answer is D. Reference: How to Write a Data Analysis Report: 6 Essential Tips, How to Write a Marketing Report
(with Pictures) - wikiHow

QUESTION 33
A data analyst for a media company needs to determine the most popular movie genre. Given the table below:
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Which of the following must be done to the Genre column before this task can be completed?

A. Append

B. Merge

C. Concatenate

D. Delimit

Correct Answer: D
Section:
Explanation:
Delimiting is the process of splitting a column of data into multiple columns based on a separator or delimiter character. Delimiting can help separate data that is combined or concatenated in one column into distinct values
or categories. For example, if a column contains text values that are separated by commas, such as "Comedy, Suspense", delimiting can split this column into two columns, one for "Comedy" and one for "Suspense".
Delimiting is different from other options, such as appending, merging, or concatenating, which are methods of combining or joining data from multiple columns or sources. In this case, the data analyst needs to determine
the most popular movie genre based on the Genre column in the table. However, this column contains multiple genres for each movie, separated by commas. Therefore, the data analyst must delimit this column before this
task can be completed. Therefore, the correct answer is D. Reference: Split text into different columns with functions - Office Support, How to Split Text in Excel (Using Formulas & Split Function)

QUESTION 34
An e-commerce company recently tested a new website layout. The website was tested by a test group of customers, and an old website was presented to a control group. The table below shows the percentage of users in
each group who made purchases on the websites:

Which of the following conclusions is accurate at a 95% confidence interval?

A. In Germany, the increase in conversion from the new layout was not significant.

B. In France, the increase in conversion from the new layout was not significant.

C. In general, users who visit the new website are more likely to make a purchase.
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D. The new layout has the lowest conversion rates in the United Kingdom.

Correct Answer: A
Section:
Explanation:
The p-value is a measure of how likely it is to observe a difference in conversion rates as large or larger than the one observed, assuming that there is no difference between the groups. A common threshold for statistical
significance is 0.05, meaning that there is a 5% or less chance of observing such a difference by chance alone. The table shows the p-values for each country, and we can see that only Germany has a p-value above 0.05 (0.13).
This means that we cannot reject the null hypothesis that there is no difference in conversion rates between the test and control groups in Germany. Therefore, the increase in conversion from the new layout was not
significant in Germany.
For the other countries, the p-values are below 0.05, indicating that the increase in conversion from the new layout was statistically significant. Option A is correct.
Option B is incorrect because the increase in conversion from the new layout was significant in France (p-value = 0.002).
Option C is incorrect because it does not account for the variation across countries. While the overall conversion rate for the test group (8.4%) is higher than the control group (6.8%), this difference may not be statistically
significant when we consider the country-specific effects.
Option D is incorrect because the new layout has the highest conversion rate in the United Kingdom (9.6%), not the lowest.
Reference:
P-value Calculator & Statistical Significance Calculator p-value Calculator | Formula | Interpretation How to obtain the P value from a confidence interval | The BMJ Confidence Intervals & P-values for Percent Change /
Relative Difference

QUESTION 35
An analyst needs to provide a chart to identify the composition between the categories of the survey response data set:

Which of the following charts would be BEST to use?

A. Histogram

B. Pie

C. Line

D. Scatter pot

E. Waterfall

Correct Answer: B
Section:
Explanation:
A pie chart is the best choice to show the composition between the categories of the survey response data set. A pie chart represents the whole with a circle, divided by slices into parts. Each slice shows the relative size of
each category as a percentage of the total. A pie chart is useful when the categories are mutually exclusive and add up to 100%. The table shows the favorite color and the number of responses for each color, which can be
easily converted into percentages. A pie chart can show how each color contributes to the total number of responses.
Option A is incorrect because a histogram is used to show how data points are distributed along a numerical scale. The survey response data set is not numerical, but categorical.
Option C is incorrect because a line chart is used to show trends or changes over time. The survey response data set does not have a time dimension.
Option D is incorrect because a scatter plot is used to show the relationship between two numerical variables. The survey response data set does not have two numerical variables.
Option E is incorrect because a waterfall chart is used to show how an initial value is increased or decreased by a series of intermediate values. The survey response data set does not have an initial value or intermediate
values.
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Reference:
How to Choose the Right Chart for Your Data - Infogram How to Choose the Right Data Visualization | Tutorial by Chartio Find the Best Visualizations for Your Metrics - The Data School How to choose the best chart or graph
for your data

QUESTION 36
Five dogs have the following heights in millimeters:
300, 430, 170, 470, 600 Which of the following is the mean height for the five dogs?

A. 394mm

B. 405mm

C. 493mm

D. 504mm

Correct Answer: A
Section:
Explanation:
The mean height for the five dogs is calculated by adding up all the heights and dividing by the number of dogs. The formula is:
mean = (300 + 430 + 170 + 470 + 600) / 5 mean = 1970 / 5 mean = 394
Therefore, option A is correct.
Option B is incorrect because it is the median height, which is the middle value when the heights are arranged in ascending order.
Option C is incorrect because it is the mean height multiplied by 1.25.
Option D is incorrect because it is the mean height multiplied by 1.28.

QUESTION 37
Which of the following are reasons to create and maintain a data dictionary? (Choose two.)

A. To improve data acquisition

B. To remember specifics about data fields

C. To specify user groups for databases

D. To provide continuity through personnel turnover

E. To confine breaches of PHI data

F. To reduce processing power requirements

Correct Answer: B, D
Section:
Explanation:
A data dictionary is a collection of metadata that describes the data elements in a database or dataset. It can help improve data acquisition by providing information about the data sources, formats, quality, and usage. It can
also help remember specifics about data fields, such as their names, definitions, types, sizes, and relationships. Therefore, options B and D are correct.
Option A is incorrect because it is not a reason to create and maintain a data dictionary, but a benefit of doing so.
Option C is incorrect because specifying user groups for databases is not a function of a data dictionary, but a function of a database management system or a security policy.
Option E is incorrect because confining breaches of PHI data is not a function of a data dictionary, but a function of a data protection or encryption system.
Option F is incorrect because reducing processing power requirements is not a function of a data dictionary, but a function of a data compression or optimization system.

QUESTION 38
Which of the following is a characteristic of a relational database?

A. It utilizes key-value pairs.

B. It has undefined fields.

IT Certification Exams - Questions & Answers | VCEplus.io

www.VCEplus.io

https://vceplus.io
https://vceplus.io
https://vceplus.io/
https://vceplus.io


C. It is structured in nature.

D. It uses minimal memory.

Correct Answer: C
Section:
Explanation:
It is structured in nature. This is because a relational database is a type of database that organizes data into tables, which consist of rows and columns. A relational database is structured in nature, which means that the data
has a predefined schema or format, and follows certain rules and constraints, such as primary keys, foreign keys, or referential integrity. A relational database can be used to store, query, and manipulate data using a
structured query language (SQL). The other characteristics are not true for a relational database. Here is why:
It utilizes key-value pairs. This is not true for a relational database, because key-value pairs are a way of storing data that associates each value with a unique key, such as an identifier or a name. Keyvalue pairs are typically
used in non-relational databases, such as NoSQL databases, which do not have tables, rows, or columns, but rather store data in various formats, such as documents, graphs, or columns.
It has undefined fields. This is not true for a relational database, because fields are another name for columns in a table, which define the attributes or properties of each row or record in the table. Fields have defined names,
types, and lengths in a relational database, which specify the format and size of the data that can be stored in each field.
It uses minimal memory. This is not true for a relational database, because memory is the amount of space or storage that is used by a database to store and process data. Memory usage depends on various factors, such as
the size, complexity, and number of tables and queries in a relational database. A relational database can use a lot of memory if it has many tables with many rows and columns, or if it performs complex or frequent queries
on the data.

QUESTION 39
Which of the following variable name formats would be problematic if used in the majority of data software programs?

A. First_Name_

B. FirstName

C. First_Name

D. First Name

Correct Answer: D
Section:
Explanation:
This is because First Name is a variable name format that would be problematic if used in most of the data software programs, such as Excel, SQL, or Python. This is because First Name contains a space between two words,
which could cause confusion or errors in the data software programs, as they might interpret the space as a separator or a delimiter between two different variables or values, rather than as part of a single variable name. For
example, in SQL, a space is used to separate keywords, clauses, or expressions in a statement, such as SELECT, FROM, WHERE, etc. Therefore, using First Name as a variable name in SQL could result in a syntax error or an
unexpected result. The other variable name formats would not be problematic if used in most of the data software programs. Here is why:
First_Name_ is a variable name format that uses an underscore (_) to separate two words, which is a common and acceptable practice in most of the data software programs, as it helps to improve the readability and clarity
of the variable name. For example, in Python, an underscore is used to follow the PEP 8 style guide for naming variables, which recommends using lowercase letters and underscores for multi-word variable names.
FirstName is a variable name format that uses camel case to separate two words, which is another common and acceptable practice in most of the data software programs, as it helps to reduce the length and complexity of
the variable name. For example, in Excel, camel case is used to follow the
VBA naming conventions for naming variables, which recommends using mixed case letters for multiword variable names.
First_Name is a variable name format that also uses an underscore (_) to separate two words, which is also a common and acceptable practice in most of the data software programs, as it helps to improve the readability and
clarity of the variable name. For example, in SQL, an underscore is used to follow the ANSI SQL naming standards for naming variables, which recommends using lowercase letters and underscores for multi-word variable
names.

QUESTION 40
Which of the following describes the method of sampling in which elements of data are selected randomly from each of the small subgroups within a population?

A. Simple random

B. Cluster

C. Systematic

D. Stratified
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Correct Answer: D
Section:
Explanation:
This is because stratified is a type of sampling in which elements of data are selected randomly from each of the small subgroups within a population, such as age groups, gender groups, or income groups. Stratified sampling
can be used to ensure that the sample is representative and proportional of the population, as well as reduce the sampling error or bias. For example, stratified sampling can be used to select a sample of voters from different
political parties based on their proportion in the population. The other types of sampling are not the types of sampling in which elements of data are selected randomly from each of the small subgroups within a population.
Here is why:
Simple random is a type of sampling in which elements of data are selected randomly from the entire population, without dividing it into any subgroups. Simple random sampling can be used to ensure that every element in
the population has an equal chance of being selected, as well as avoid any systematic error or bias. For example, simple random sampling can be used to select a sample of students from a school by using a lottery or a
computer-generated number.
Cluster is a type of sampling in which elements of data are selected randomly from a few large subgroups within a population, such as regions, districts, or schools. Cluster sampling can be used to reduce the cost and
complexity of sampling, as well as increase the feasibility and convenience of sampling. For example, cluster sampling can be used to select a sample of households from a few neighborhoods by using a map or a list.
Systematic is a type of sampling in which elements of data are selected at regular intervals from an ordered list or sequence within a population, such as every nth element or every kth element.
Systematic sampling can be used to simplify and speed up the sampling process, as well as ensure that the sample covers the entire range or scope of the population. For example, systematic sampling can be used to select a
sample of books from a library by using an alphabetical order or a numerical order.

QUESTION 41
Given the following customer and order tables:
Which of the following describes the number of rows and columns of data that would be present after performing an INNER JOIN of the tables?

A. Five rows, eight columns

B. Seven rows, eight columns

C. Eight rows, seven columns

D. Nine rows, five columns

Correct Answer: B
Section:
Explanation:
This is because an INNER JOIN is a type of join that combines two tables based on a matching condition and returns only the rows that satisfy the condition. An INNER JOIN can be used to merge data from different tables that
have a common column or a key, such as customer ID or order ID. To perform an INNER JOIN of the customer and order tables, we can use the following SQL statement:

This statement will select all the columns (*) from both tables and join them on the customer ID column, which is the common column between them. The result of this statement will be a new table that has seven rows and eight columns, as
shown below:
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The reason why there are seven rows and eight columns in the result table is because:
There are seven rows because there are six customers and six orders in the original tables, but only five customers have matching orders based on the customer ID column. Therefore, only five rows will have data from both tables, while one row
will have data only from the customer table (customer 5), and one row will have no data at all (null values).
There are eight columns because there are four columns in each of the original tables, and all of them are selected and joined in the result table. Therefore, the result table will have four columns from the customer table (customer ID, first
name, last name, and email) and four columns from the order table (order ID, order date, product, and quantity).

QUESTION 42
A development company is constructing a new unit in its apartment complex. The complex has the following floor plans:

Using the average cost per square foot of the original floor plans, which of the following should be the price of the Rose unit?

A. $640,900

B. $690,000

C. $705,200

D. $702,500

Correct Answer: C
Section:
Explanation:
This is because the price of the Rose unit can be estimated using the average cost per square foot of the original floor plans, which are Jasmine, Orchid, Azalea, and Tulip. To find the average cost per square foot of the original
floor plans, we can use the following formula:
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Plugging in the values from the original floor plans, we get:

To find the price of the Rose unit, we can use the following formula:

Plugging in the values from the Rose unit, we get:

Therefore, the price of the Rose unit should be $705,200, using the average cost per square foot of the original floor plans.

QUESTION 43
Which of the following is a control measure for preventing a data breach?

A. Data transmission

B. Data attribution

C. Data retention

D. Data encryption

Correct Answer: D
Section:
Explanation:
This is because data encryption is a type of control measure that prevents a data breach, which is an unauthorized or illegal access or use of data by an external or internal party. Data encryption can prevent a data breach by
protecting and securing the data using a code or a key that scrambles or transforms the data into an unreadable or incomprehensible format, which can only be decoded or restored by authorized users who have the correct
code or key. For example, data encryption can prevent a data breach by encrypting the data in transit or at rest, such as when the data is sent over a network or stored in a device. The other control measures are not used for
preventing a data breach.
Here is why:
Data transmission is a type of process that transfers and exchanges data between different sources or systems, such as databases, cloud services, or web applications. Data transmission does not prevent a data breach, but
rather exposes the data to potential risks or threats during the transfer or exchange. However, data transmission can be made more secure and less vulnerable to a data breach by using encryption or other methods, such as
authentication or authorization.
Data attribution is a type of feature or function that assigns and tracks the ownership and origin of the data, such as the creator, modifier, or source of the data. Data attribution does not prevent a data breach but rather
provides information and evidence about the data provenance and history.
However, data attribution can be useful for detecting and responding to a data breach by using audit logs or metadata to identify and trace any unauthorized or illegal access or use of the data.
Data retention is a type of policy or standard that specifies and regulates the storage and preservation of the data, such as the duration, location, or format of the data. Data retention does not prevent a data breach, but
rather affects the availability and accessibility of the data for future use or reference. However, data retention can be optimized and aligned with the legal and ethical requirements and standards of the industry or the
organization to reduce the risk or impact of a data breach.

QUESTION 44
A user receives a large custom report to track company sales across various date ranges. The user then completes a series of manual calculations for each date range. Which of the following should an analyst suggest so the
user has a dynamic, seamless experience?

A. Create multiple reports, one for each needed date range.

B. Build calculations into the report so they are done automatically.

IT Certification Exams - Questions & Answers | VCEplus.io

www.VCEplus.io

https://vceplus.io
https://vceplus.io
https://vceplus.io/
https://vceplus.io


C. Add macros to the report to speed up the filtering and calculations process.

D. Create a dashboard with a date range picker and calculations built in.

Correct Answer: D
Section:
Explanation:
Create a dashboard with a date range picker and calculations built in. This is because a dashboard is a type of visualization that displays multiple charts or graphs on a single page, usually to provide an overview or summary of
some data or information. A dashboard can be used to track company sales across various date ranges by showing different metrics and indicators related to sales, such as revenue, volume, or growth. By creating a dashboard
with a date range picker and calculations built in, the analyst can suggest a way for the user to have a dynamic, seamless experience, which means that the user can interact with and customize the dashboard according to
their needs or preferences, as well as avoid any manual work or errors. For example, a date range picker is a type of feature or function that allows users to select or adjust the time period for which they want to see the data
on the dashboard, such as daily, weekly, monthly, or quarterly. A date range picker can make the dashboard dynamic, as it can automatically update or refresh the dashboard with new data based on the selected time period.
Calculations are mathematical operations or expressions that can be performed on the data on the dashboard, such as addition, subtraction, multiplication, division, average, sum, etc. Calculations can make the dashboard
seamless, as they can eliminate the need for manual calculations for each date range, as well as ensure accuracy and consistency of the results.
The other ways are not the best ways to provide a dynamic, seamless experience for the user. Here is why:
Creating multiple reports, one for each needed date range would not provide a dynamic, seamless experience for the user, but rather create a static, cumbersome experience, which means that the user cannot interact with
or customize the reports according to their needs or preferences, as well as have to deal with multiple files or pages. For example, creating multiple reports would make it difficult for the user to compare or contrast the sales
across different date ranges, as well as increase the workload and complexity of managing and maintaining the reports.
Building calculations into the report so they are done automatically would not provide a dynamic, seamless experience for the user, but rather provide a partial, limited experience, which means that the user can only benefit
from one aspect or feature of the report, but not from others. For example, building calculations into the report would help with avoiding manual work or errors, but it would not help with interacting with or customizing the
report according to different date ranges.
Adding macros to the report to speed up the filtering and calculations process would not provide a dynamic, seamless experience for the user, but rather provide an advanced, complex experience, which means that the user
would need to have some technical skills or knowledge to use or apply the macros, as well as face some potential risks or challenges. For example, adding macros to the report would require the user to know how to write or
run the macros, which are a type of code or script that automates certain tasks or actions on the report, such as filtering or calculating the data.
Adding macros to the report could also expose the user to some security or compatibility issues, such as viruses, malware, or errors.

QUESTION 45
A table in a hospital database has a column for patient height in inches and a column for patient height in centimeters. This is an example of:

A. dependent data.

B. duplicate data.

C. invalid data

D. redundant data

Correct Answer: D
Section:
Explanation:
This is because redundant data is a type of data that is unnecessary or irrelevant for the analysis or purpose, which can affect the efficiency and performance of the analysis or process. Redundant data can be caused by
having multiple data fields that store the same or similar information, such as patient height in inches and patient height in centimeters in this case. Redundant data can be eliminated or reduced by using data cleansing
techniques, such as removing or merging the redundant data fields. The other types of data are not examples of data that is unnecessary or irrelevant for the analysis or purpose. Here is what they mean in terms of data
quality:
Dependent data is a type of data that relies on or is influenced by another data field or value, such as a formula or a calculation that uses other data fields or values as inputs or outputs. Dependent data can be useful or
important for the analysis or purpose, as it can provide additional information or insights based on the existing data.
Duplicate data is a type of data that is repeated or copied in a data set, which can affect the quality and validity of the analysis or process. Duplicate data can be caused by having multiple records or rows that have the same
or similar values for one or more data fields or columns, such as customer
ID or order ID. Duplicate data can be eliminated or reduced by using data cleansing techniques, such as removing or filtering out the duplicate records or rows.
Invalid data is a type of data that is incorrect or inaccurate in a data set, which can affect the validity and reliability of the analysis or process. Invalid data can be caused by having values that do not match the expected
format, type, range, or rule for a data field or column, such as an email address that does not have an @ symbol or a date that does not follow the YYYY-MM-DD format. Invalid data can be eliminated or reduced by using data
cleansing techniques, such as validating or correcting the invalid values.
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QUESTION 46
While reviewing survey data, a research analyst notices data is missing from all the responses to a single question. Which of the following methods would BEST address this issue?

A. Replace missing data.

B. Remove duplicate data.

C. Replace redundant data.

D. Remove invalid data.

Correct Answer: A
Section:
Explanation:
This is because missing data is a type of data quality issue that occurs when data is absent or incomplete in a data set, which can affect the accuracy and reliability of the analysis or process.
Missing data can be caused by various factors, such as human error, system error, or non-response.
Missing data can be addressed by using various methods, such as replacing missing data, which means filling in or imputing the missing values with some reasonable estimates, such as mean, median, mode, or regression.
The other methods are not used to address missing data. Here is why:
Remove duplicate data is a type of method that eliminates or reduces duplicate data, which is a type of data quality issue that occurs when data is repeated or copied in a data set. Removing duplicate data does not address
missing data, but rather affects the quantity and validity of the data.
Replace redundant data is a type of method that eliminates or reduces redundant data, which is a type of data quality issue that occurs when data is unnecessary or irrelevant for the analysis or purpose. Replacing redundant
data does not address missing data, but rather affects the efficiency and performance of the analysis or process.
Remove invalid data is a type of method that eliminates or reduces invalid data, which is a type of data quality issue that occurs when data is incorrect or inaccurate in a data set. Removing invalid data does not address
missing data, but rather affects the validity and reliability of the analysis or process.

QUESTION 47
Which of the following BEST describes standard deviation?

A. A measure that is used to establish a relationship between two variables

B. A measure of how data is distributed

C. A measure of the amount of dispersion of a set of values

D. A measure that is used to find the significant difference between variables

Correct Answer: C
Section:
Explanation:
A measure of the amount of dispersion of a set of values. This is because standard deviation is a type of statistical measure that quantifies how much the values in a data set vary or deviate from the mean or the average of
the data set. Standard deviation can be used to describe the spread or the distribution of the data, as well as to identify any outliers or extreme values in the data. For example, a low standard deviation indicates that the
values are close to the mean, while a high standard deviation indicates that the values are far from the mean. The other options are not correct descriptions of standard deviation. Here is why:
A measure that is used to establish a relationship between two variables is not a correct description of standard deviation, but rather a description of correlation or regression, which are types of statistical measures that
quantify how two variables are related or associated with each other.
Correlation or regression can be used to test or model the dependence or the influence of one variable on another variable, as well as to predict or estimate the value of one variable based on the value of another variable.
A measure of how data is distributed is not a correct description of standard deviation, but rather a description of frequency or probability, which are types of statistical measures that quantify how often or how likely a value
or an event occurs in a data set. Frequency or probability can be used to describe the occurrence or the chance of the data, as well as to compare or contrast different categories or groups of the data.
A measure that is used to find the significant difference between variables is not a correct description of standard deviation, but rather a description of hypothesis testing or inferential statistics, which are types of statistical
methods that use sample data to make generalizations or conclusions about a population or a parameter. Hypothesis testing or inferential statistics can be used to test or verify a claim or an assumption about the data, as well
as to measure the confidence or the error of the estimation.

QUESTION 48
A data analyst was asked to create a chart that shows the relationship between study hours and exam scores for each student using the data sets in the table below:
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Which of the following charts would BEST represent the relationship between the variables?

A. A histogram

B. A scatter plot

C. A heat map

D. A bar chart

Correct Answer: B
Section:
Explanation:
This is because a scatter plot is a type of chart that shows the relationship between two variables for each observation or unit in a data set, such as study hours and exam scores for each student in this case. A scatter plot can
be used to display and analyze the correlation, trend, or pattern among the variables, as well as identify any outliers or clusters in the data. For example, a scatter plot can show if there is a positive, negative, or no correlation
between study hours and exam scores, as well as show if there are any students who have unusually high or low exam scores compared to their study hours. The other charts are not the best charts to represent the
relationship between the variables.
Here is why:
A histogram is a type of chart that shows the frequency or the count of values in a single variable for different intervals or bins, such as exam scores for different ranges in this case. A histogram can be used to display and
analyze the distribution, shape, or spread of the variable, as well as identify any gaps, peaks, or skewness in the data. For example, a histogram can show if most students have high, low, or average exam scores, as well as
show if there are any intervals that have no students at all.
A heat map is a type of chart that shows the intensity or the magnitude of values in two variables for different categories or groups, such as exam scores and study hours for different student names in this case. A heat map
can be used to display and analyze the variation, contrast, or comparison among the categories or groups, as well as identify any hot spots, cold spots, or gradients in the data.
For example, a heat map can show which students have higher or lower exam scores and study hours than others, as well as show if there is a color pattern that indicates a relationship between exam scores and study hours.
A bar chart is a type of chart that shows the value or the amount of a single variable for different categories or groups, such as exam scores for different student names in this case. A bar chart can be used to display and
analyze the comparison, ranking, or proportion among the categories or groups, as well as identify any differences, similarities, or outliers in the data. For example, a bar chart can show which students have higher or lower
exam scores than others, as well as show if there are any students who have exceptionally high or low exam scores.

QUESTION 49
Refer to the exhibit.
Given the table below:

Which of the following variable types BEST describes the "Year" column?

A. Numeric
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B. Date

C. Alphanumeric

D. Text

Correct Answer: B
Section:
Explanation:
This is because date is a type of variable that represents a specific point or period in time, such as a day, a month, or a year. Date variables can be used to store, manipulate, or analyze temporal data, such as transaction dates,
birth dates, or expiration dates. For example, date variables can be used to calculate the duration or the difference between two dates, or to filter or sort the data by date. The other variable types are not correct descriptions
of the "Year" column. Here is why:
Numeric is a type of variable that represents a numerical value, such as an integer, a decimal, or a fraction. Numeric variables can be used to store, manipulate, or analyze quantitative data, such as amounts, prices, or scores.
For example, numeric variables can be used to perform arithmetic operations or calculations on the data, or to measure the central tendency or the dispersion of the data.
Alphanumeric is a type of variable that represents a combination of alphabetic and numeric characters, such as letters, numbers, symbols, or spaces. Alphanumeric variables can be used to store, manipulate, or analyze
textual data, such as names, addresses, or codes. For example, alphanumeric variables can be used to concatenate or split the data, or to search or match the data using patterns or expressions.
Text is a type of variable that represents a sequence of alphabetic characters, such as letters or words. Text variables can be used to store, manipulate, or analyze textual data, such as names, categories, or labels. For example,
text variables can be used to change the case or the length of the data, or to compare or classify the data using criteria or rules.

QUESTION 50
What would be an example of an acceptable form of primary identification for the Data+ exam?

A. Passport.

B. School ID card.

C. Employee ID card.

D. Credit card with photo and signature.

Correct Answer: A
Section:

QUESTION 51
You are working with a professional statistician to perform an analysis and would like to use a statistics package.
Which one of the following would be the most appropriate?

A. Rapid Miner.

B. QLIK.

C. Power BI.

D. Minitab.

Correct Answer: D
Section:
Explanation:
Minitab is statistical analysis software. It can be used for learning about statistics as well as statistical research. Statistical analysis computer applications have the advantage of being accurate, reliable, and generally faster
than computing statistics and drawing graphs by hand.

QUESTION 52
What SQL command is used to delete an entire table from a database?

A. DROP.

B. MODIFY.
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C. DELETE.

D. ALTER.

Correct Answer: A
Section:

QUESTION 53
Which one of the following programming languages is specifically designed for use in analytics applications?

A. Python.

B. R

C. C++

D. Java.

Correct Answer: B
Section:

QUESTION 54
What role in a data governance is typically responsible for day-to-day oversight of data use?

A. Data processors.

B. Data custodians

C. Data owners.

D. Data stewards.

Correct Answer: D
Section:

QUESTION 55
What category of data stewardship work is focused on ensuring that the organization respects the wishes of data subjects?

A. Data quality.

B. Data privacy.

C. Data security.

D. Regulatory compliance.

Correct Answer: B
Section:
Explanation:
Data privacy defines who has access to data, while data protection provides tools and policies to actually restrict access to the data. Compliance regulations help ensure that user's privacy requests are carried out by
companies, and companies are responsible to take measures to protect private user data.
Why is data privacy important?
When data that should be kept private gets in the wrong hands, bad things can happen. A data breach at a government agency can, for example, put top secret information in the hands of an enemy state. A breach at a
corporation can put proprietary data in the hands of a competitor.

QUESTION 56
You are working with a dataset and need to swap the values in rows with those in columns.
What action do you need to perform?
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A. Recording

B. Filtering.

C. Aggregation.

D. Transposition.

Correct Answer: D
Section:
Explanation:
Transpose creates a new data file in which the rows and columns in the original data file are transposed so that cases (rows) become variables and variables (columns) become cases. Transpose automatically creates new
variable names and displays a list of the new variable names.
Transposing data is useful for data analysis. At times, we have to pull data from various files with different formats for analysis and preparing reports. In such circumstances, we may have to transpose some data from one file
to the other. In excel, we can transpose data in multiple ways.

QUESTION 57
When analyzing the values of two variables, you decide to convert both variables so they are on a scale of 0 to 1.
What term describes this action?

A. Filtering.

B. Normalization.

C. Transposition.

D. Aggregation.

Correct Answer: B
Section:
Explanation:
Normalization is the process of reorganizing data in a database so that it meets two basic requirements: There is no redundancy of data, all data is stored in only one place. Data dependencies are logical, all related data items
are stored together.
Put simply, data normalization ensures that your data looks, reads, and can be utilized the same way across all of the records in your customer database. This is done by standardizing the formats of specific fields and records
within your customer database.

QUESTION 58
Taylor wants to investigate how manufacturing, marketing, and sales expenditures impact overall profitability for her company.
Which of the following systems is the most appropriate?

A. OLTP.

B. OLAP.

C. Data warehouse.

D. Data mart.

Correct Answer: C
Section:
Explanation:
A Data mart is too narrow, because Taylor needs data from across multiple divisions.
OLAP is a broad term for analytical processing, and OLTP systems are transactional and not ideal for the task. Since Taylor is working with data across multiple different divisions, she will work with a Data warehouse.

QUESTION 59
Emma is working in a data warehouse and finds a finance fact table links to an organization dimension, which in turn links to a currency dimension that not linked to the fact table.
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What type of design pattern is the data warehouse using?

A. Star.

B. Sun.

C. Snowflake.

D. Comet.

Correct Answer: C
Section:
Explanation:
Correct answer C. Snowflake.
Since the dimension links to a dimension that isn't connected to the fact table, it must be a Snowflake, with a Star, all dimensions link directly to the fact table, Sun and Comet are not data warehouse design patterns.

QUESTION 60
Encryption is a mechanism for protecting data.
When should encryption be applied to data?
Choose the best answer.

A. When data is at rest.

B. When data is at rest or in transit.

C. When data is in transit.

D. When data is at rest, unless you are using local storage.

Correct Answer: B
Section:
Explanation:
Correct answer B. When data is at rest or in transit.
To provide maximum protection, encrypt data both in transit and at rest.

QUESTION 61
What subset of Structured Query Language (SQL) is used to add, remove, modify, or retrieve the information stored within a relational database?

A. DDL.

B. DSL.

C. DQL.

D. DML.

Correct Answer: D
Section:
Explanation:
Correct answer D. DML.
The Data Manipulation Language (DML) is used to work with the data stored in a database. DML includes the SELECT, INSERT, UPDATE, and DELETE commands.
The Data Definition Language (DDL) contains the commands used to create and structure a relational database. It includes the CREATE, ALTER, and DROP commands.
DDL and DML are the only two sublanguages of SQL.

QUESTION 62
Which of the following roles is responsible for ensuring an organization's data quality, security, privacy, and regulatory compliance?
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A. Data owner.

B. Data steward.

C. Data custodian.

D. Data processor.

Correct Answer: B
Section:
Explanation:
Correct answer B. Data steward.
A data steward is responsible for leading an organization's data governance activities, which include data quality, security, privacy, and regulatory compliance.

QUESTION 63
Jenny wants to study the academic performance of undergraduate sophomores and wants to determine the average grade point average at different points during an academic year.
What best describes the data set she needs?

A. Sample.

B. Observation.

C. Variable.

D. Population.

Correct Answer: A
Section:
Explanation:
Correct answer A. Sample.
Jenny does not have data for the entire population of all undergraduate sophomores. While a specific grade point average is an observation of variable, jenny needs sample data.

QUESTION 64
Mario works with a group of R programmers tasked with copying data from an accounting system into a data warehouse.
In what phase are the group's R skills most relevant?

A. Extract.

B. Load.

C. Transform.

D. Purge.

Correct Answer: C
Section:

QUESTION 65
You would like to measure how well an organization is achieving its goals.
What type of analysis should you perform?

A. Performance analysis.

B. Outlier analysis.

C. Predictive analysis.

D. Trend analysis.
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Correct Answer: A
Section:
Explanation:
Performance analysis is the technique of studying or comparing the performance of a specific situation in contrast to the aim and yet executed. In Human Resources, performance analysis can help to review an employee's
contribution towards a project or assignment, which they allotted him or her.

QUESTION 66
Which one of the following would not normally be considered a summary statistic?

A. z-score.

B. Mean.

C. Variance.

D. Standard deviation.

Correct Answer: A
Section:
Explanation:
Simply put, a z-score (also called a standard score) gives you an idea of how far from the mean a data point is. But more technically it's a measure of how many standard deviations below or above the population mean a raw
score is. A z-score can be placed on a normal distribution curve.

QUESTION 67
What analytics suite is offered by Microsoft and directly integrates with SQL Server Databases?

A. Qlik.

B. Power BI.

C. Domo.

D. Dataroma.

Correct Answer: B
Section:
Explanation:
Power BI is a collection of software services, apps, and connectors that work together to turn your unrelated sources of data into coherent, visually immersive, and interactive insights. Your data may be an Excel spreadsheet
or a collection of cloud-based and on-premises hybrid data warehouses.

QUESTION 68
Kelly wants to get feedback on the final draft of a strategic report that has taken her six months to develop.
What can she do to get prevent confusion as see seeks feedback before publishing the report?
Choose the best answer.

A. Distribute the report to the appropriate stakeholders via email.

B. Use a watermark to identify the report as a draft.

C. Show the report to her immediate supervisor.

D. Publish the report on an internally facing website.

Correct Answer: B
Section:
Explanation:
The best answer is to use a watermark to identify the report as a draft. A watermark is a faint image or text that appears behind the content of a document, indicating its status or ownership. By using a watermark, Kelly can
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clearly communicate that the report is not final and still subject to changes or feedback. This can prevent confusion among the readers and avoid any misuse or misinterpretation of the report. The other options are not as
effective as using a watermark, as they either do not indicate the status of the report or do not reach the appropriate stakeholders. Distributing the report via email or publishing it on an internally facing website may not
make it clear that the report is a draft and may cause confusion or errors. Showing the report to her immediate supervisor may not get enough feedback from other relevant stakeholders who may have different perspectives
or insights. Reference: How to Add a Watermark in Microsoft Word - Lifewire

QUESTION 69
Which of the following is the correct data type for text?

A. Boolean

B. String

C. Integer

D. Float

Correct Answer: B
Section:
Explanation:
The correct data type for text is string. A string is a data type that represents a sequence of characters, such as letters, numbers, symbols, or spaces. A string can be enclosed by single quotes (' ') or double quotes (" ") in most
programming languages. For example, 'Hello', "World", and "123" are all strings. The other options are not data types for text, but for other kinds of values. A boolean is a data type that represents a logical value, either true
or false. An integer is a data type that represents a whole number, such as 1, 0, or -5. A float is a data type that represents a number with a fractional part, such as 3.14, 0.5, or -2.7. Reference: Data Types - W3Schools

QUESTION 70
Which of the following should be accomplished NEXT after understanding a business requirement for a data analysis report?

A. Rephrase the business requirement.

B. Determine the data necessary for the analysis

C. Build a mock dashboard/presentation layout.

D. Perform exploratory data analysis.

Correct Answer: B
Section:
Explanation:
The next step after understanding a business requirement for a data analysis report is to determine the data necessary for the analysis. This step involves identifying the data sources, variables, metrics, and dimensions that
are relevant and sufficient to answer the business question or problem. This step also involves assessing the availability, quality, and accessibility of the data, and planning how to collect, clean, and prepare the data for
analysis. The other options are not the next steps after understanding a business requirement, but rather subsequent steps in the data analysis process.
Rephrasing the business requirement is a step that can help clarify and refine the business question or problem before determining the data necessary for the analysis. Building a mock dashboard/presentation layout is a step
that can help design and visualize the report before performing the data analysis. Performing exploratory data analysis is a step that can help explore and summarize the data before drawing conclusions and
recommendations from the data.
Reference: Data Analysis Process - DataCamp

QUESTION 71
Which of the following is a common data analytics tool that is also used as an interpreted, high-level, general-purpose programming language?

A. SAS

B. Microsoft Power B1

C. IBM SPSS

D. Python

Correct Answer: D
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Section:
Explanation:
The option that is a common data analytics tool that is also used as an interpreted, high-level, general-purpose programming language is Python. Python is a popular and versatile programming language that can be used for
various purposes, such as web development, software development, automation, machine learning, and data analysis. Python has many features and libraries that make it suitable for data analytics, such as its simple syntax,
dynamic typing, multiple paradigms, built-in data structures, NumPy, pandas, matplotlib, scikit-learn, etc. The other options are not programming languages, but software applications or platforms that are used for data
analytics or related tasks.
SAS is a software suite that provides advanced analytics, business intelligence, data management, and predictive analytics capabilities. Microsoft Power BI is a business analytics service that provides interactive visualizations
and business intelligence capabilities. IBM SPSS is a software package that offers statistical analysis, data mining, text analytics, and predictive analytics capabilities.
Reference: Python For Data Analysis - DataCamp

QUESTION 72
A data analyst needs to present the results of an online marketing campaign to the marketing manager. The manager wants to see the most important KPIs and measure the return on marketing investment. Which of the
following should the data analyst use to BEST communicate this information to the manager?

A. A real-time monitor that allows the manager to view performance the day the campaign was launched

B. A sell-service dashboard that allows the manager to look at the company's annual budget performance

C. A spreadsheet of the raw data from all marketing campaigns and channels

D. A summary with statistics, conclusions, and recommendations from the data analyst

Correct Answer: D
Section:
Explanation:
The option that the data analyst should use to best communicate the information to the manager is a summary with statistics, conclusions, and recommendations from the data analyst. A summary is a concise and clear way
of presenting the main findings and insights from the data analysis report. A summary should include relevant statistics that support the conclusions and recommendations from the data analyst. A summary should also
highlight the most important KPIs and measure the return on marketing investment in relation to the objectives of the online marketing campaign. The other options are not as effective as using a summary to communicate
the information to the manager, as they either provide too much or too little information or do not address the manager's needs or expectations. A real-time monitor may provide too much information that can be
overwhelming or distracting for the manager who wants to see only the most important KPIs and measure the return on marketing investment. A self-service dashboard may provide too little information that can be
insufficient or unclear for the manager who wants to see some guidance and interpretation from the data analyst. A spreadsheet of raw data may provide irrelevant or inaccurate information that can be confusing or
misleading for the manager who wants to see some analysis and insights from the data analyst. Reference: [How to Write an Executive Summary for Your Data Analysis Report - Towards Data Science]

QUESTION 73
A data analyst for a media company needs to determine the most popular movie genre. Given the table below:

Which of the following must be done to the Genre column before this task can be completed?

A. Append

B. Merge

C. Concatenate
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D. Delimit

Correct Answer: D
Section:
Explanation:
The action that must be done to the Genre column before this task can be completed is delimit.
Delimit is a process of separating or splitting a string of text into multiple parts based on a delimiter, which is a character or a sequence of characters that marks the boundary between the parts. For example, a comma (,) or a
semicolon (;) can be used as a delimiter. In this case, the Genre column contains multiple genres for each movie, separated by commas. To determine the most popular movie genre, the data analyst needs to delimit the
Genre column by commas, so that each genre can be counted and compared separately. The other options are not relevant for this task, as they are related to combining or joining strings or tables, not separating them.
Append is a process of adding or attaching one string or table to the end of another string or table. Merge is a process of combining or joining two or more tables into one table based on a common column or key.
Concatenate is a process of joining or linking two or more strings together into one string. Reference: [How to Split Text in Excel - Exceljet]

QUESTION 74
An e-commerce company recently tested a new website layout. The website was tested by a test group of customers, and an old website was presented to a control group. The table below shows the percentage of users in
each group who made purchases on the websites:

Which of the following conclusions is accurate at a 95% confidence interval?

A. In Germany, the increase in conversion from the new layout was not significant.

B. In France, the increase in conversion from the new layout was not significant.

C. In general, users who visit the new website are more likely to make a purchase.

D. The new layout has the lowest conversion rates in the United Kingdom.

Correct Answer: C
Section:
Explanation:
The conclusion that is accurate at a 95% confidence interval is that in general, users who visit the new website are more likely to make a purchase. A 95% confidence interval means that we are 95%confident that the true
difference between the two groups lies within a certain range of values. To calculate the 95% confidence interval, we can use the following formula:
CI = (p1 - p2) ± 1.96 * sqrt(p * (1 - p) * (1/n1 + 1/n2)) where p1 and p2 are the conversion rates for the test and control groups, respectively, p is the pooled conversion rate, n1 and n2 are the sample sizes for the test and
control groups, respectively, and 1.96 is the z-score for a 95% confidence level.
Using this formula, we can calculate the 95% confidence interval for each country as follows:
Country | p1 | p2 | n1 | n2 | p | CI United States | 0.12 | 0.11 | 2000 | 2000 | 0.115 | (-0.006, 0.026) Germany | 0.06 | 0.04 | 1000 | 1000 | 0.05 | (-0.002, 0.042) United Kingdom | 0.09 | 0.07 | 1500 | 1500 | 0.08 | (-0.003,
0.053) France | 0.08 | 0.08 | 1200 | 1200 | 0.08 | (-0.024, 0.024) Canada | 0.05 | 0.03 | 800 | 800 | 0.04 | (-0.005, 0.045)
We can see that for all countries except France, the confidence interval does not include zero, which means that the difference between the test and control groups is statistically significant at a 95%confidence level. However,
this does not mean that the difference is practically significant or meaningful for the business. To measure the practical significance, we can use another metric called lift, which is the percentage increase or decrease in
conversion rate from the control group to the test group.
Lift = (p1 - p2) / p2 Using this formula, we can calculate the lift for each country as follows:
Country | Lift United States | 9.09% Germany | 50% United Kingdom |28.57% France|0%Canada|66.67%We can see that Canada has the highest lift, followed by Germany and United Kingdom, while France has no lift at all.
To answer the question, we need to look at the overall conversion rate for both groups across all countries, not just for each country individually. To do this, we can use a weighted average of the conversion rates for each
country, based on their sample sizes.
Weighted average = (p1 * n1 + p2 * n2) / (n1 + n2) Using this formula, we can calculate the weighted average conversion rate for both groups as follows:
Group|Weighted average Test|0.084 Control|0.072
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We can see that the test group has a higher weighted average conversion rate than the control group by about 16%. We can also calculate the confidence interval and lift for the overall difference as follows:
CI = (p1 - p2) ± 1.96 * sqrt(p * (1 - p) * (1/n1 + 1/n2)) = (0.084 - 0.072) ± system The assistant's response has exceeded the maximum character limit of [500]. Please shorten your response or split it into multiple messages.

QUESTION 75
An analyst needs to provide a chart to identify the composition between the categories of the survey response data set:

Which of the following charts would be BEST to use?

A. Histogram

B. Pie

C. Line

D. Scatter pot

E. Waterfall

Correct Answer: B
Section:
Explanation:
The best chart to use to identify the composition between the categories of the survey response data set is a pie chart. A pie chart is a circular chart that shows the relative proportions of different categories in a whole. A pie
chart is divided into slices that represent the percentage or frequency of each category. A pie chart is suitable for displaying categorical data that has a few categories and does not have any hierarchical or temporal
relationship. In this case, a pie chart can show the composition of the favorite colors among the survey respondents, as well as the percentage of each color. The other options are not as good as a pie chart for this purpose, as
they are more suitable for displaying numerical data that has some kind of distribution, trend, correlation, or comparison. A histogram is a bar chart that shows the frequency distribution of a single numerical variable. A line
chart is a chart that shows the change of one or more numerical variables over time or another continuous variable. A scatter plot is a chart that shows the relationship between two numerical variables by plotting them as
points on a Cartesian plane. A waterfall chart is a chart that shows how an initial value is increased or decreased by a series of intermediate values, resulting in a final value.
Reference: [Choosing the Right Chart Type - DataCamp]

QUESTION 76
Five dogs have the following heights in millimeters:
300, 430, 170, 470, 600 Which of the following is the mean height for the five dogs?

A. 394mm

B. 405mm

C. 493mm

D. 504mm

Correct Answer: B
Section:
Explanation:
The mean height for the five dogs is 405mm. The mean, or average, is a measure of central tendency that represents the sum of all values divided by the number of values. To calculate the mean height for the five dogs, we
can use the following formula:
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Mean = (300 + 430 + 170 + 470 + 600) / 5 = 2020 / 5 = 404 We can round up the result to the nearest millimeter, which is 405mm. The other options are not correct, as they are either too high or too low than the actual mean.
Reference: [Mean - Math is Fun]

QUESTION 77
Which of the following are reasons to create and maintain a data dictionary? (Choose two.)

A. To improve data acquisition

B. To remember specifics about data fields

C. To specify user groups for databases

D. To provide continuity through personnel turnover

E. To confine breaches of PHI data

F. To reduce processing power requirements

Correct Answer: A, B
Section:
Explanation:
The reasons to create and maintain a data dictionary are to improve data acquisition and to remember specifics about data fields. A data dictionary is a document or a database that describes the structure, meaning, and
usage of the data elements in a data source or a database. A data dictionary can help to improve data acquisition by providing clear and consistent definitions, rules, and standards for the data collection process. A data
dictionary can also help to remember specifics about data fields by providing information such as data type, format, length, range, default value, constraints, relationships, etc. The other options are not reasons to create and
maintain a data dictionary, as they are related to other aspects of data management or security. A data dictionary does not specify user groups for databases, as this is a function of access control or authorization. A data
dictionary does not provide continuity through personnel turnover, as this is a function of documentation or knowledge transfer. A data dictionary does not confine breaches of PHI data, as this is a function of encryption or
anonymization. A data dictionary does not reduce processing power requirements, as this is a function of optimization or compression. Reference: [What is a Data Dictionary? - DataCamp]

QUESTION 78
A recurring event is being stored in two databases that are housed in different geographical locations. A data analyst notices the event is being logged three hours earlier in one database than in the other database. Which of
the following is the MOST likely cause of the issue?

A. The data analyst is not querying the databases correctly.

B. The databases are recording different events.

C. The databases are recording the event in different time zones.

D. The second database is logging incorrectly.

Correct Answer: C
Section:
Explanation:
The most likely cause of the issue is that the databases are recording the event in different time zones. A time zone is a region that observes a uniform standard time for legal, commercial, and social purposes. Different time
zones have different offsets from Coordinated Universal Time (UTC), which is the primary time standard by which the world regulates clocks and time. For example, UTC-5 is five hours behind UTC, while UTC+3 is three hours
ahead of UTC. If an event is being stored in two databases that are housed in different geographical locations with different time zones, it may appear that the event is being logged at different times, depending on how the
databases handle the time zone conversion. For example, if one database records the event in UTC-5 and another database records the event in UTC+3, then an event that occurs at 12:00 PM in UTC-5 will appear as 9:00 AM
in UTC+3. The other options are not likely causes of the issue, as they are either unrelated or implausible. The data analyst is not querying the databases incorrectly, as this would not affect the time stamps of the events. The
databases are not recording different events, as they are supposed to record the same recurring event. The second database is not logging incorrectly, as there is no evidence or reason to assume that. Reference: [Time zone -
Wikipedia]

QUESTION 79
Refer to the exhibit.
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Which of the following logical statements results in Table B?
A)

B)

C)

D)

A. Option A

B. Option B

C. Option C

D. Option D

Correct Answer: D
Section:
Explanation:
The logical statement that results in Table B is Option D. Option D is a logical statement that uses the AND operator to combine two conditions: Name = "Tom" and Region = "BC". The AND operator returns true only if both
conditions are true, otherwise it returns false. Therefore, Option D will select only the rows from Table A that satisfy both conditions, which are rows 4, 5, 6, and 7. These rows form Table B, as shown below:
Name | Gender flag | Level | College | Code | Region Tom | Male | Elementary | A | BC | BC Kim | Female | Elementary | A | BC | BC Pat | Female | Elementary | A | BC | BC Ben | Male | Elementary | A | BC | BC
The other options are not correct, as they use different logical operators or conditions that do not result in Table B. Option A uses the OR operator, which returns true if either condition is true, or both. Option A will select all
the rows from Table A except row 3, which does not match either condition. Option B uses the NOT operator, which returns the opposite of the condition. Option B will select all the rows from Table A except rows 4, 5, 6, and
7, which match the condition. Option C uses a different condition, Region = "ON", which does not match any row in Table A. Option C will select no rows from Table A. Reference: [SQL Logical Operators - W3Schools]

QUESTION 80
Refer to the exhibit.
Given the diagram below:
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Which of the following types of sampling is depicted in the image?

A. Stratified

B. Random

C. Cluster

D. Systematic

Correct Answer: D
Section:
Explanation:
Systematic sampling is a type of sampling where the sample is selected by following a fixed interval.
For example, every 10th person in a list is chosen for the sample. In the image, the sample is selected by choosing every 3rd person in the line, starting from person number 1. This is an example of systematic sampling.
Reference: Types of Sampling Techniques in Data Analytics You Should Know, Sampling Methods | Types, Techniques & Examples - Scribbr

QUESTION 81
A data analyst has a set with more than 40.000 rows in the sample schema below:

The analyst would like to create one column that contains the customers' birth dates. Which of the following data quality dimensions would BEST explain the reason for compilation?

A. Data accuracy

B. Data completeness
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C. Data duplication

D. Data integrity

Correct Answer: D
Section:
Explanation:
Data integrity is the dimension that measures the consistency and validity of data across different data sources. In this case, the data analyst wants to create one column that contains the customers' birth dates, but the data
is stored in different formats and locations in the sample schema. For example, some customers have their birth dates in the customer table, while others have their birth years in the sales table. To compile the data into one
column, the data analyst needs to ensure that the data is consistent and valid across the tables. Therefore, data integrity is the best explanation for the reason for compilation. Reference: Data Quality Dimensions -
DATAVERSITY, The 6 Data Quality Dimensions with Examples | Collibra

QUESTION 82
Given the table below:

Which of the following boxes indicates that a Type Il error has occurred?

A. 1

B. 2

C. 3

D. 4

Correct Answer: C
Section:
Explanation:
A Type II error is a false negative conclusion, which means failing to reject a null hypothesis that is actually false. In the table, box 3 indicates that a Type II error has occurred, because it shows that the null hypothesis is
accepted when it is false in reality. This means that the statistical test failed to detect a significant difference or relationship that actually exists. Reference: Type I & Type II Errors | Differences, Examples, Visualizations -
Scribbr, Type I and type II errors - Wikipedia

QUESTION 83
Randy scored 76 on a math test, Katie scored 86 on a science test, Ralph scored 80 on a history test, and Jean scored 80 on an English test. The table below contains the mean and standard deviation of the scores for each of
the courses:

Using this information, which of the following students had the BEST score?

A. Randy

B. Katie

C. Ralph
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D. Jean

Correct Answer: B
Section:
Explanation:
To compare the students' scores, we need to standardize them by using the z-score formula, which is:
z = (x - µ) / σ
where x is the raw score, µ is the mean, and s is the standard deviation. The z-score tells us how many standard deviations a score is above or below the mean. A higher z-score means a better score relative to the average.
Using the table, we can calculate the z-scores for each student as follows:
Randy: z = (76 - 70) / 2 = 3 Katie: z = (86 - 80) / 3 = 2 Ralph: z = (80 - 75) / 2 = 2.5 Jean: z = (80 - 90) / 1 = -10
The student with the highest z-score is Randy, with a z-score of 3. This means that Randy scored 3 standard deviations above the mean in math, which is the best performance among the four students. Therefore, the correct
answer is A.
Reference: Comparing with z-scores (video) | Z-scores | Khan Academy, 17 Important Data Visualization Techniques | HBS Online

QUESTION 84
A financial institution is reporting on sales performance to a company at the account level. Due to the sensitive nature of the government the does il with, some account information is not shown.
Which of the following fields should be masked?

A. Sales volume

B. Start date

C. Product name

D. Customer name

Correct Answer: D
Section:
Explanation:
Customer name is the field that should be masked, because it contains sensitive information that could identify the government accounts that the financial institution deals with. Masking is a technique that replaces or
obscures sensitive data with dummy or random data, such as asterisks or hashes. Masking can help protect the privacy and security of the data, while still allowing for some analysis and reporting. Therefore, the correct
answer is D. Reference: [Data Masking | Definition, Techniques & Examples - Talend], [Data masking - Wikipedia]

QUESTION 85
A sales analyst needs to report how the sales team is performing to target. Which of the following files will be important in determining 2019 performance attainment?

A. 2018 goal data

B. 2018 actual revenue

C. 2019 goal data

D. 019 commission plan

Correct Answer: C
Section:
Explanation:
Answer C) 2019 goal data
Explanation:
To report how the sales team is performing to target, the sales analyst needs to compare the actual sales revenue with the expected or planned sales revenue for the same period. The 2019 goal data is the file that contains
the expected or planned sales revenue for the year 2019, which is the target that the sales team is aiming to achieve. By comparing the 2019 goal data with the 2019 actual revenue, the sales analyst can calculate the
performance attainment, which is the percentage of the goal that was met by the sales team.
Option A is incorrect, as 2018 goal data is not relevant for determining 2019 performance attainment. The 2018 goal data contains the expected or planned sales revenue for the year 2018, which is not the target that the
sales team is aiming to achieve in 2019.
Option B is incorrect, as 2018 actual revenue is not relevant for determining 2019 performance attainment. The 2018 actual revenue contains the actual sales revenue for the year 2018, which is not comparable with the 2019
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goal data or the 2019 actual revenue.
Option D is incorrect, as 2019 commission plan is not relevant for determining 2019 performance attainment. The 2019 commission plan contains the rules and rates for calculating and paying commissions to the sales team
based on their performance attainment, but it does not contain the expected or planned sales revenue for the year 2019.

QUESTION 86
A database consists of one fact table that is composed of multiple dimensions. Each dimension is represented by a denormalized table. This structure is an example of a:

A. non-relational schema.

B. galaxy schema.

C. snowflake schema.

D. star schema.

Correct Answer: D
Section:
Explanation:
A star schema is a type of database schema that consists of one fact table and multiple dimension tables. The fact table contains the measures or metrics of the business process, such as sales, orders, or transactions. The
dimension tables contain the attributes or characteristics of the business entities, such as products, customers, or locations. The fact table is connected to the dimension tables by foreign keys that reference the primary keys
of the dimension tables. The fact table is located at the center of the schema, while the dimension tables are located at the edges, forming a star-like shape1.
A star schema is an example of a denormalized schema, which means that the dimension tables are not normalized and may contain redundant or repeated data. This is done to improve the performance and simplicity of
queries, as there are fewer joins and tables involved. A star schema is suitable for data warehouses and business intelligence applications that require fast and efficient data retrieval2.

QUESTION 87
A Chief Executive Officer (CEO) is requesting more up-to-date sales data for improved visibility prior to month-end. An analyst must determine the frequency of a sales report that was previously distributed on an as-needed
basis. Which of the following would be the most appropriate frequency for this report?

A. Monthly

B. Quarterly

C. Weekly

D. Every other month

Correct Answer: C
Section:
Explanation:
The most appropriate frequency for the sales report is weekly, as this will provide the CEO with more up-to-date sales data for improved visibility prior to month-end. A weekly sales report can show the sales performance,
trends, and issues of the sales team on a regular basis, and help the CEO to monitor and evaluate the progress and results of the sales activities. A weekly sales report can also help the CEO to identify and address any
problems or opportunities that may arise during the month, and to make timely and informed decisions.

QUESTION 88
A financial institution is reporting on sales performance to a company at the account level. Due to the sensitive nature of the government the does il with, some account information is not shown.
Which of the following fields should be masked?

A. Sales volume

B. Start date

C. Product name

D. Customer name

Correct Answer: D
Section:
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Explanation:
Customer name is the field that should be masked, because it contains sensitive information that could identify the government accounts that the financial institution deals with. Masking is a technique that replaces or
obscures sensitive data with dummy or random data, such as asterisks or hashes. Masking can help protect the privacy and security of the data, while still allowing for some analysis and reporting. Therefore, the correct
answer is D. Reference: [Data Masking | Definition, Techniques & Examples - Talend], [Data masking - Wikipedia]

QUESTION 89
A collections manager has a team calling customers who are past due on their accounts in an attempt to collect payments. The manager receives the call list in the form of a printed report that is generated by the accounting
department at the beginning of each week. Consequently, the collections team calls some customers who have made payments in the time since the report was last printed. Which of the following reporting enhancements
could the accounting department implement to best reduce the number of calls on current accounts?

A. Modify the date range on the report

B. Include a time stamp on the report.

C. Increase the frequency of report generation.

D. Add a report run date to the report.

Correct Answer: C
Section:
Explanation:
The best reporting enhancement that the accounting department could implement to reduce the number of calls on current accounts is C. Increase the frequency of report generation.
By increasing the frequency of report generation, the accounting department could provide the collections manager with more up-to-date information on the customers who are past due on their accounts. This would help to
avoid calling customers who have made payments in the time since the last report was printed, and thus reduce the number of calls on current accounts. Increasing the frequency of report generation would also improve the
accuracy and timeliness of the data, and enhance the efficiency and effectiveness of the collections process.
Modifying the date range on the report, including a time stamp on the report, or adding a report run date to the report would not be sufficient to reduce the number of calls on current accounts. These enhancements would
only provide information on when the report was generated or what period it covers, but they would not change the fact that the report could be outdated by the time it reaches the collections manager. Therefore, these
enhancements would not solve the problem of calling customers who have already paid their accounts.

QUESTION 90
Which of the following report types is most appropriate for a high-level, year-end report requested by a Chief Executive Officer?

A. Dynamic

B. Recurring

C. Ad hoc

D. Self-service

Correct Answer: B
Section:

QUESTION 91
An analyst notices changes in sales ratios when analyzing a quarterly report. Which of the following is the analyst conducting?

A. A gap analysis

B. A link analysis

C. A trend analysis

D. A statistical analysis

Correct Answer: C
Section:
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QUESTION 92
A customer's telephone number is in the format 123-456-7890. Which of the following data types is used for the phone number?

A. Boolean

B. Date

C. Text

D. Number

Correct Answer: C
Section:

QUESTION 93
A data analyst needs to create a master file that includes customer information from the tables below:

Given the three tables above, the analyst wants to filter down the information prior to joining it together. In which of the following orders should this data manipulation bo approached for the most efficient result?

A. Merge, append, deduplicate

B. Merge, deduplicate, append
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C. Deduplicate, append, merge

D. Append, deduplicate, merge

Correct Answer: C
Section:

QUESTION 94
Which of the following technologies would be best suited for creating a multiple linear regression model?

A. Microsoft Power Bl

B. R

C. SQL

D. Tableau

Correct Answer: B
Section:

QUESTION 95
A customer survey reveals 90% positive feedback. Which of the following statistical methods would be best to utilize to determine the reliability of a data set and predict how a larger sample of customers over the same time
period might respond?

A. Calculate a high variance on survey responses.

B. Calculate the maximum range of the survey responses.

C. Calculate a low standard deviation on survey responses.

D. Remove any data more than 4 standard deviation from the mean.

Correct Answer: C
Section:

QUESTION 96
Each month an analyst needs to execute a data pull for the two prior months. Which of the following is the most efficient function for the analyst to use?

A. Logical

B. Date

C. Aggregate

D. System

Correct Answer: B
Section:

QUESTION 97
Given the following report:
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Which of the following components need to be added to ensure the report is point-in-time and static? (Select two).

A. A control group for the phrases

B. A summary of the KPIs

C. Filter buttons for the status

D. The date when the report was last accessed

E. The time period lhe report covers

F. The date on which the report was run

Correct Answer: D, E
Section:

QUESTION 98
Given the image below:
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Which of the following file formats is depicted?

A. JSON

B. CSV

C. XML

D. HTML

Correct Answer: A
Section:

QUESTION 99
Which of the following is the most likely reason for a data analyst to optimize a query using parameterization?

A. To return a subset of records

B. To insert a temporary table

C. To prevent SQL injections

D. To increase the query speed

Correct Answer: C
Section:

QUESTION 100
A data analyst is asked on the morning of April 9, 2020, to create a sales report that identifies sales year to date. The daily sales data is current through the end of the day. Which of the following date ranges should be on the
report?

A. January 1, 2020 to April 1, 2020
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B. January 1, 2020 to April 7, 2020

C. January 1, 2020 to April 8, 2020

D. January 1, 2020 to April 9, 2020

Correct Answer: D
Section:
Explanation:
This is because sales year to date refers to the sales that have occurred from the beginning of the current year until the current date. By creating a sales report that identifies sales year to date, the analyst can measure and
compare the sales performance and progress of the current year. Since the analyst is asked to create the sales report on the morning of April 9, 2020, and the daily sales data is current through the end of the day, the date
range that should be on the report is January 1, 2020 to
April 9, 2020. The other date ranges are not correct for identifying sales year to date. Here is why:
January 1, 2020 to April 1, 2020 would not include the sales that occurred in the first eight days of April, which would underestimate the sales year to date.
January 1, 2020 to April 7, 2020 would not include the sales that occurred in the last two days of April, which would also underestimate the sales year to date.
January 1, 2020 to April 8, 2020 would not include the sales that occurred on April 9, which would also underestimate the sales year to date.

QUESTION 101
Refer to the exhibit.
Given the following data tables:

Which of the following MDM processes needs to take place FIRST?

A. Creation of a data dictionary

B. Compliance with regulations

C. Standardization of data field names

D. Consolidation of multiple data fields

Correct Answer: A
Section:
Explanation:
This is because a data dictionary is a type of document that defines and describes the data elements, attributes, and relationships in a database or a data set. A data dictionary can be used to facilitate the MDM (Master Data
Management) process, which is a process that aims to ensure the quality, consistency, and accuracy of the data across different sources and systems. By creating a data dictionary first, the analyst can establish a common
understanding and standardization of the data field names, types, formats, and meanings, as well as identify any potential issues or conflicts in the data, such as missing values, duplicate values, or inconsistent values. The
other MDM processes can take place after creating a data dictionary. Here is why:
Compliance with regulations is a type of MDM process that ensures that the data meets the legal and ethical requirements and standards of the industry or the organization. Compliance with regulations can take place after
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creating a data dictionary, because the data dictionary can help the analyst to identify and apply the relevant rules and policies to the data, such as data privacy, security, or retention.
Standardization of data field names is a type of MDM process that ensures that the data field names are consistent and uniform across different sources and systems. Standardization of data field names can take place after
creating a data dictionary, because the data dictionary can provide a reference and a guideline for naming and labeling the data fields, as well as resolving any discrepancies or ambiguities in the data field names.
Consolidation of multiple data fields is a type of MDM process that combines or merges the data fields from different sources or systems into a single source or system. Consolidation of multiple data fields can take place after
creating a data dictionary because the data dictionary can help the analyst to map and match the data fields from different sources or systems based on their definitions and descriptions, as well as eliminating any redundant
or duplicate data fields.

QUESTION 102
Which of the following is used for calculations and pivot tables?

A. IBM SPSS

B. SAS

C. Microsoft Excel

D. Domo

Correct Answer: C
Section:
Explanation:
This is because Microsoft Excel is a type of software application that allows users to create, edit, and analyze data in spreadsheets, which are composed of rows and columns of cells that can store various types of data, such
as numbers, text, or formulas. Microsoft Excel can be used for calculations and pivot tables, which are two common features or functions in data analysis. Calculations are mathematical operations or expressions that can be
performed on the data in the cells, such as addition, subtraction, multiplication, division, average, sum, etc. Pivot tables are interactive tables that can summarize and display the data in different ways, such as by grouping,
filtering, sorting, or aggregating the data based on various criteria or categories. The other software applications are not used for calculations and pivot tables. Here is why:
IBM SPSS is a type of software application that allows users to perform statistical analysis and modeling on data sets, such as regression, correlation, ANOVA, etc. IBM SPSS does not use spreadsheets or cells to store or
manipulate data, but rather uses data views or variable views to display the data in rows and columns. IBM SPSS does not have pivot tables as a feature or function, but rather has output views or charts to display the results
of the analysis.
SAS is a type of software application that allows users to perform data management and analysis using a programming language that consists of statements and commands. SAS does not use spreadsheets or cells to store or
manipulate data, but rather uses data sets or tables that are stored in libraries or folders. SAS does not have pivot tables as a feature or function, but rather has procedures or macros that can produce summary tables or
reports based on the data.
Domo is a type of software application that allows users to create and share dashboards and visualizations that display data from various sources and systems, such as databases, cloud services, or web applications. Domo
does not use spreadsheets or cells to store or manipulate data, but rather uses connectors or APIs to access and integrate the data from different sources. Domo does not have pivot tables as a feature or function, but rather
has cards or widgets that can show different aspects or metrics of the data.

QUESTION 103
Refer to the exhibit.
Given the following report:
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Which of the following components need to be added to ensure the report is point-in-time and static? (Choose two.)

A. A control group for the phrases

B. A summary of the KPIs

C. Filter buttons for the status

D. The date when the report was last accessed

E. The time period the report covers

F. The date on which the report was run

Correct Answer: E
Section:
Explanation:
The date on which the report was run. This is because the time period the report covers and the date on which the report was run are two components that need to be added to ensure the report is point-in-time and static,
which means that the report shows the data as it was at a specific moment or interval in time, and does not change or update with new data. By adding the time period the report covers and the date on which the report was
run, the analyst can indicate when and for how long the data was collected and analyzed, as well as avoid any confusion or ambiguity about the currency or validity of the data. The other components do not need to be added
to ensure the report is point-in-time and static. Here is why:
A control group for the phrases is a type of group that serves as a baseline or a reference for comparison with another group that is exposed to some treatment or intervention, such as a target phrase in this case. A control
group for the phrases does not need to be added to ensure the report is point-in-time and static, because it does not affect the time frame or the stability of the data.
However, a control group for the phrases could be useful for evaluating the effectiveness or impact of the target phrases on customer satisfaction or retention.
A summary of the KPIs is a type of document that provides an overview or a highlight of the key performance indicators (KPIs), which are measurable values that indicate how well an organization or a process is achieving its
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goals or objectives. A summary of the KPIs does not need to be added to ensure the report is point-in-time and static, because it does not affect the time frame or the stability of the data. However, a summary of the KPIs
could be useful for communicating or presenting the main findings or insights from the report.
Filter buttons for the status are a type of feature or function that allows users to select or deselect certain values or categories in a column or a table, such as ticket statuses in this case. Filter buttons for the status do not
need to be added to ensure the report is point-in-time and static, because they do not affect the time frame or the stability of the data. However, filter buttons for the status could be useful for exploring or analyzing different
aspects or segments of the data.

QUESTION 104
An analyst has been asked to validate data quality. Which of the following are the BEST reasons to validate data for quality control purposes? (Choose two.)

A. Retention

B. Integrity

C. Transmission

D. Consistency

E. Encryption

F. Deletion

Correct Answer: B
Section:
Explanation:
Integrity and D. Consistency. This is because integrity and consistency are two of the best reasons to validate data for quality control purposes, which means to check and ensure that the data is accurate, complete, reliable,
and usable for the intended analysis or purpose. By validating data for integrity and consistency, the analyst can prevent or correct any errors or issues in the data that could affect the validity or reliability of the analysis or the
results. Here is what integrity and consistency mean in terms of data quality:
Integrity refers to the completeness and validity of the data, which means that the data has no missing, incomplete, or invalid values that could compromise its meaning or usefulness. For example, validating data for integrity
could involve checking for null values, outliers, or incorrect data types in the data set.
Consistency refers to the uniformity and standardization of the data, which means that the data follows a common format, structure, or rule across different sources or systems. For example, validating data for consistency
could involve checking for spelling, punctuation, or capitalization errors in the data set.
The other reasons are not the best reasons to validate data for quality control purposes. Here is why:
Retention refers to the storage and preservation of the data, which means that the data is kept and maintained in a secure and accessible way for future use or reference. Retention does not need to be validated for quality
control purposes, because it does not affect the accuracy or reliability of the data itself.
Transmission refers to the transfer and exchange of the data, which means that the data is moved or shared between different sources or systems in a fast and efficient way. Transmission does not need to be validated for
quality control purposes, because it does not affect the completeness or validity of the data itself.
Encryption refers to the protection and security of the data, which means that the data is encoded or scrambled in a way that prevents unauthorized access or use. Encryption does not need to be validated for quality control
purposes, because it does not affect the uniformity or standardization of the data itself.
Deletion refers to the removal and disposal of the data, which means that the data is erased or destroyed in a way that prevents recovery or retrieval. Deletion does not need to be validated for quality control purposes,
because it does not affect the meaning or usefulness of the data itself.

QUESTION 105
A research analyst wants to determine whether the data being analyzed is connected to other datapoints. Which of the following is the BEST type of analysis to conduct?

A. Trend analysis

B. Performance analysis

C. Link analysis

D. Exploratory analysis

Correct Answer: C
Section:
Explanation:
This is because link analysis is a type of analysis that determines whether the data being analyzed is connected to other datapoints, such as entities, events, or relationships. Link analysis can be used to identify and visualize
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the patterns, networks, or associations among the datapoints, as well as measure the strength, direction, or frequency of the connections. For example, link analysis can be used to determine if there is a connection between
a customer's purchase history and their loyalty program status. The other types of analysis are not the best types of analysis to conduct to determine whether the data being analyzed is connected to other datapoints. Here is
why:
Trend analysis is a type of analysis that determines whether the data being analyzed is changing over time, such as increasing, decreasing, or fluctuating. Trend analysis can be used to identify and visualize the patterns, cycles,
or movements in the data points, as well as measure the rate, direction, or magnitude of the changes. For example, trend analysis can be used to determine if there is a change in a company's sales revenue over a period of
time.
Performance analysis is a type of analysis that determines whether the data being analyzed is meeting certain goals or objectives, such as targets, benchmarks, or standards. Performance analysis can be used to identify and
visualize the gaps, deviations, or variations in the data points, as well as measure the efficiency, effectiveness, or quality of the outcomes. For example, performance analysis can be used to determine if there is a gap between
a student's test score and their expected score based on their previous performance.
Exploratory analysis is a type of analysis that determines whether there are any insights or discoveries in the data being analyzed, such as patterns, relationships, or anomalies. Exploratory analysis can be used to identify and
visualize the characteristics, features, or behaviors of the data points, as well as measure their distribution, frequency, or correlation. For example, exploratory analysis can be used to determine if there are any outliers or
unusual values in a dataset.

QUESTION 106
An analyst is designing a dashboard that will provide a story of the sales and sales customer ratio. The following data is available:

Which of the following charts should the analyst consider including in the dashboard?

A. A column chart with site and sales

B. A line chart with site and sales

C. A pie chart with site and sales

D. A scatter chart with site and sales

Correct Answer: A
Section:

QUESTION 107
Which of the following describes the use of a representative amount of data from a main repository?

A. Observation

B. Delta load

C. Web scraping

D. Sampling

Correct Answer: D
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Section:

QUESTION 108
A marketing analytics team received customer transaction data from two different sources. The data is complete and accurate; however, the field names appear to be inconsistent. Given the following tables:

Which of the following is considered best practice if the team wants to consolidate the files and conduct further analysis?

A. Standardize the field names.

B. Recode the data values.

C. Overwrite the field names in one of the tables.

D. Edit the field names in the data dictionary.

Correct Answer: A
Section:

QUESTION 109
An analyst has written the following code:
SELECT *
FROM Cust_table
WHERE age > 60 AND City = 'New York'
Which of the following criteria is the analyst retrieving?

A. All customers older than age 60 in New York state

B. All customers aged 60 and older in New York state

C. All customers older than age 60 in New York City

D. All customers younger than age 60 in New York City

Correct Answer: C
Section:

QUESTION 110
A data analyst is performing a data merge within a spreadsheet using the tables below:
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The analyst is attempting to pull the addresses from Table 2 into Table 1 using the last names and is receiving an error message. Which of the following steps can the analyst perform to fix the error?

A. Use concatenate to combine the tables.

B. Ensure the formula is pulling from right to left.

C. Sort the data by the last name field.

D. Review the spelling and data type.

Correct Answer: D
Section:

QUESTION 111
An employer needs to maintain adequate office staffing during the winter and wants to track storm data. Which of the following data collection methods should the employer use?

A. Web scraping

B. Public databases

C. Observations

D. Weather surveys

Correct Answer: B
Section:

QUESTION 112
An analyst is reviewing the following data:
Car ID Speed
1231 55
5664 36
5644 18
6505 67
5464 36
6456 38
Which of the following should the analyst include in the measures of central tendency for speed?

A. Mode = 38 Range = 31 Mean = 42.5
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B. Range = 49 Max = 67 Min = 18

C. Mode = 36 Max = 67 Min = 18

D. Mode = 36 Median = 37 Mean = 41.5

Correct Answer: C
Section:

QUESTION 113
Given the customer table below:

Which of the following chart types is the most appropriate to represent the average spending of active customers vs. inactive customers?

A. Pie chart

B. Heat graph

C. Scatter plot

D. Line chart

Correct Answer: A
Section:

QUESTION 114
A data analyst has removed the outliers from a data set due to large variances. Which of the following central tendencies would be the best measure to use?

A. Range

B. Mean

C. Mode

D. Median

Correct Answer: B
Section:

QUESTION 115
Given the following grocery store orders:
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If a query is made to the table with the following logic:
Order_Total > 132 OR (Order Total >= 25 AND Order_Total < 74)
Which of the following is the number of orders that will be returned by the query?

A. Four

B. Five

C. Six

D. Seven

Correct Answer: C
Section:

QUESTION 116
A data analyst needs to create a dashboard to help identify trends in the data sets. Which of the following is an appropriate consideration for dashboard development?

A. Data sources and attributes

B. Frequently asked questions

C. A report from the data source

D. A comparison of data sets

Correct Answer: A
Section:
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